
CHEMISTRY

BOOKS - PATHFINDER CHEMISTRY (BENGALI ENGLISH)

FG-1 (ALCOHOLS, PHENOLS & ETHERS)

QUESTION BANK

1. Classify the following as primary and Secondary alcohols

A. 

B. 

C. 

D. 

H2C = CH − CH2OH

CH3 − CH2 − CH2 − OH

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_gQMWIt4Tn91w


Watch Video Solution

2. Classify the following as Tertiary alcohols

A. 

B. 

C. 

D. 

Watch Video Solution

H2C = CH − CH2OH

CH3 − CH2 − CH2 − OH

https://dl.doubtnut.com/l/_gQMWIt4Tn91w
https://dl.doubtnut.com/l/_lvkHJoi7qzWu


3. Find the major product of reaction

Watch Video Solution

4. Find the major product of reaction

Watch Video Solution

https://dl.doubtnut.com/l/_gJEHRj6vRSnY
https://dl.doubtnut.com/l/_oLEZS7kVpIWo


5. Find the major product of reaction

Watch Video Solution

6. Find the major product of reaction

Watch Video Solution

https://dl.doubtnut.com/l/_SYdec9UcMRkM
https://dl.doubtnut.com/l/_sDaN9phIYTcL


7. Find the major product of reaction

Watch Video Solution

8. Find the major product of reaction

Watch Video Solution

9. Give one example of solid aerosol and one liquid aerosol.

https://dl.doubtnut.com/l/_ITGow1BJ5uRW
https://dl.doubtnut.com/l/_ka8b4xxqTRPx
https://dl.doubtnut.com/l/_W4UH3BHQNwI0


Watch Video Solution

10. Show how are alcohols prepared by the reaction of a suitable Grignard

reagent on Methanal ?

Watch Video Solution

11. Show how are alcohols prepared by the reaction of a suitable Grignard

reagent on Methanal ?

https://dl.doubtnut.com/l/_W4UH3BHQNwI0
https://dl.doubtnut.com/l/_AW9VBJ6wcLyx
https://dl.doubtnut.com/l/_7j7S3JUFzfgP


Watch Video Solution

12. Write structures of the products of the reaction

Watch Video Solution

CH3CH = CH2
H2 ∅H +

−−−−→

https://dl.doubtnut.com/l/_7j7S3JUFzfgP
https://dl.doubtnut.com/l/_wRwZY4A3JCAH


13. Write structures of the products of the reaction

Watch Video Solution

14. Write structures of the products of the reaction

Watch Video Solution

15. Why is mobility of  ion in ice greater as compared to liquid water?

Watch Video Solution

H +

https://dl.doubtnut.com/l/_63svELebXSyL
https://dl.doubtnut.com/l/_lmSknBseDEuO
https://dl.doubtnut.com/l/_pL9oatHMk2Z8


16. Why 2-chloroethanol is more acidic than ethanol ?

Watch Video Solution

17. 0.436 g of acetyl derivative of a polyhydric alcohol(molecular mass=92)

requires 0.336 g of KOH for hydrolysis. Calculate the number of hydroxyl

groups in the alcohol.

Watch Video Solution

18. Draw the product of each reaction:

https://dl.doubtnut.com/l/_pL9oatHMk2Z8
https://dl.doubtnut.com/l/_TyTRjYqUbm3a
https://dl.doubtnut.com/l/_m8zs5pFmsPET
https://dl.doubtnut.com/l/_JTxYz0ksbJNL


Watch Video Solution

19. Draw the product of each reaction:

Watch Video Solution

20. Draw the product of each reaction:

Watch Video Solution

https://dl.doubtnut.com/l/_JTxYz0ksbJNL
https://dl.doubtnut.com/l/_i0twcHnblDFc
https://dl.doubtnut.com/l/_gwyskUjxDpU7


21. Give the major product formed when each alcohol in the presence of




Watch Video Solution

H2SO4orH3PO4

22. Give the major product formed when each alcohol in the presence of




Watch Video Solution

H2SO4orH3PO4

https://dl.doubtnut.com/l/_gwyskUjxDpU7
https://dl.doubtnut.com/l/_r6mjxXIJx1eD
https://dl.doubtnut.com/l/_aMdw8PA7pIzk


23. Give the major product formed when each alcohol in the presence of




Watch Video Solution

H2SO4orH3PO4

24. Give the major product formed when each alcohol in the presence of


H2SO4orH3PO4

https://dl.doubtnut.com/l/_aMdw8PA7pIzk
https://dl.doubtnut.com/l/_ESG9ORDEsa8I
https://dl.doubtnut.com/l/_y2aIm5h5Tfuo


Watch Video Solution

25. Give the major product formed when each alcohol in the presence of


H2SO4orH3PO4

https://dl.doubtnut.com/l/_y2aIm5h5Tfuo
https://dl.doubtnut.com/l/_fTqgaZvO51KY


Watch Video Solution

26. Predict the major product of acid catalysed dehydration of 

(a) 1-methylcyclohexanol 

(b) butan -2- ol

Watch Video Solution

27. Propose a mechanism for the following reaction.

Watch Video Solution

https://dl.doubtnut.com/l/_fTqgaZvO51KY
https://dl.doubtnut.com/l/_niNrQsLyZo3h
https://dl.doubtnut.com/l/_K0k0fg7sVXvT
https://dl.doubtnut.com/l/_GPkiswmlnrdG


28. Classify alcohols as primary and secondary alcohols and write the

structures of their first oxidation products:

View Text Solution

29. Classify alcohols as primary and secondary alcohols and write the

structures of their first oxidation products:

View Text Solution

30. Starting with bromobenzene and any other needed reagents, outline

a synthesis of the following ketone.

View Text Solution

https://dl.doubtnut.com/l/_GPkiswmlnrdG
https://dl.doubtnut.com/l/_v2LrmiQfrwua
https://dl.doubtnut.com/l/_CbXgB2py2mLr


31. Draw the organic products in each reaction:

View Text Solution

32. Draw the organic products in each reaction:

View Text Solution

33. Draw the organic products in each reaction:

View Text Solution

34. Draw the organic products in each reaction:

https://dl.doubtnut.com/l/_rwr367R0bD2d
https://dl.doubtnut.com/l/_iXgJASms1q6r
https://dl.doubtnut.com/l/_ABU46I9EKK1H
https://dl.doubtnut.com/l/_nQiZDVscmeHm


View Text Solution

35. Draw the organic products in each reaction:

View Text Solution

36. Phenol is a stronger acid than alcohol. Explain

Watch Video Solution

37. How would you obtain: Phenol  Picric acid

Watch Video Solution

→

38. Convert:Phenol  Benzophenone

Watch Video Solution

→

https://dl.doubtnut.com/l/_nQiZDVscmeHm
https://dl.doubtnut.com/l/_nT7jo144xaCp
https://dl.doubtnut.com/l/_gvOdHg0D0GNo
https://dl.doubtnut.com/l/_ei02tfDRdlVr
https://dl.doubtnut.com/l/_RicLOrNcvFOW


39. Explain p-nitrophenol boils at higher temperature than o-nitrophenol?

Watch Video Solution

40. Explain o-nitrophenol has much lower solubility in water than m-or p-

isomers?

Watch Video Solution

41. What are the products (A),(B),(C),(D) and ( E) ?

View Text Solution

42. How can you prepare 2-acetoxybenzoic acid and phenyl salicylate from

salicylic acid?

Watch Video Solution

https://dl.doubtnut.com/l/_RicLOrNcvFOW
https://dl.doubtnut.com/l/_8FPnuaSK4rmv
https://dl.doubtnut.com/l/_TJQCneccrSfX
https://dl.doubtnut.com/l/_IKtC7m6gbEma
https://dl.doubtnut.com/l/_BdMY5bU22ED5


Watch Video Solution

43. Give IUPAC name for following heterocyclic ethers.

View Text Solution

44. Give IUPAC name for following heterocyclic ethers.

View Text Solution

45. Give IUPAC name for following heterocyclic ethers.

View Text Solution

https://dl.doubtnut.com/l/_BdMY5bU22ED5
https://dl.doubtnut.com/l/_iYe6Yx1X08bn
https://dl.doubtnut.com/l/_4dWcTiEw2APG
https://dl.doubtnut.com/l/_veiNP5WLZGEs


46. Give IUPAC name for following heterocyclic ethers.

View Text Solution

47. Write the reactions of Williamson of 2-ethoxy-3-methylpentane

starting from ethanol and 3-methylpentan-2-ol.

Watch Video Solution

48. Explain the following observations:

View Text Solution

49. Identify the product A and B giving proper explanations:

https://dl.doubtnut.com/l/_WnQKruZeFF1g
https://dl.doubtnut.com/l/_d1aCHJsFb2D3
https://dl.doubtnut.com/l/_K2wzTNk6LYYq
https://dl.doubtnut.com/l/_Ng7JnMdX7rdT


View Text Solution

50. Phosgene is the common name for?

Watch Video Solution

51. What properties of tungsten make it suitable for use as filaments in

light bulbs?

Watch Video Solution

52. Name two poisonous gas which can be prepared from chlorine gas.

Watch Video Solution

https://dl.doubtnut.com/l/_Ng7JnMdX7rdT
https://dl.doubtnut.com/l/_AjaOP8u4LRRZ
https://dl.doubtnut.com/l/_fycOhnwcvrj6
https://dl.doubtnut.com/l/_Jumjgzsf45vS


53. Consider the following reaction sequence

A. ( R)-2-chlorobutane

B. (S) -2-chlorobutane

C. Both: (R ) and (S) -2 chlorobutane

D. none of these

Answer: A

Watch Video Solution

54. The following reactions are carried out




The final product ( C) is

https://dl.doubtnut.com/l/_0TeiTYnS7iNN
https://dl.doubtnut.com/l/_2JGrFGSrOg6i


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

55. Why is ICl more reactive than ?

Watch Video Solution

I2

https://dl.doubtnut.com/l/_2JGrFGSrOg6i
https://dl.doubtnut.com/l/_5jrJwp0KuRxL
https://dl.doubtnut.com/l/_bDcveBlIIRph


56. Phenol is prepared industrially by heating chlorobenzene with

aqueous NaOH at  under high pressure.

 The reaction involves

A. SN1 mechanism

B. ArSN2 mechanism

C. ArS E2 mechanism

D. addition mechanism

Answer: B

Watch Video Solution

360∘C

C6H5Cl + NaOH
.360 ∘C ,pressure

r
2 .H3O+

areC6H5OH

57. Consider the following reaction 




The major product formed is

https://dl.doubtnut.com/l/_bDcveBlIIRph
https://dl.doubtnut.com/l/_JPGBVnXrdgdo


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_JPGBVnXrdgdo


58. Salicylic acid is treated with excess bromine water. The product

formed is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_FoTI82MxLC3I


59. Consider the following sequence of reaction

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_OjzF0miG67l1


Answer: C

Watch Video Solution

60. A mixture of oxygen and helium gas is used in the diving apparatus.

Why?

Watch Video Solution

61. Why has it been difficult to study the chemistry of radon?

Watch Video Solution

62. Give the resonating structures of 

Watch Video Solution

N2O5

https://dl.doubtnut.com/l/_OjzF0miG67l1
https://dl.doubtnut.com/l/_499VFQJMzrnc
https://dl.doubtnut.com/l/_wtRC8QahwJCy
https://dl.doubtnut.com/l/_owzamvF0zkYT


63. Illustrate how copper metal can give different products on reaction

with 

Watch Video Solution

HNO3

64. Which of the following reaction would not yield

methoxybenzene(anisole)?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

PhOH + CH2N2 →

PhOH + CH3I →

PhOH + (CH3)2SO4
NaOH
−−−→

PhOH + CH3MgI →

65. Give two uses of ClO2

https://dl.doubtnut.com/l/_ZSpnwtMOmZjd
https://dl.doubtnut.com/l/_botZL9STC8yI
https://dl.doubtnut.com/l/_W8qrazPyoX6X


Watch Video Solution

66. The reaction




can be classified as

A. Dehydration reaction

B. Williamson alcohol synthesis reaction

C. Williamson ether synthesis reaction

D. Alcohol formation reaction

Answer: C

Watch Video Solution

67. Which of the following compounds would not react with Lucas

reagent at room temperature?

https://dl.doubtnut.com/l/_W8qrazPyoX6X
https://dl.doubtnut.com/l/_Zdx8R1arUX31
https://dl.doubtnut.com/l/_zXZgvYfmMYgP


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H2C = CHCH2OH

C6H5CH2OH

CH3CH2CH2OH

(CH3)3COH

68. Write the reactions of  and  with water.

Watch Video Solution

F2 Cl2

69. Reaction of phenol with chloroform in presence of dilute sodium

hydroxide finally introduces which one of the following functional group?

A. 

B. 

−CH2Cl

−COOH

https://dl.doubtnut.com/l/_zXZgvYfmMYgP
https://dl.doubtnut.com/l/_to7dyElwWt6R
https://dl.doubtnut.com/l/_Fiit6zyaSfTF


C. 

D. 

Answer: D

Watch Video Solution

−CHCl

−CHO

70. How can you prepare  from HCl and HCl from ?
 Write the

reactions only.

Watch Video Solution

Cl2 Cl2

71. How are  and  prepared?

Watch Video Solution

XeO3 XeOF4

72. Among the following sets of reactants which one produces anisole?

https://dl.doubtnut.com/l/_Fiit6zyaSfTF
https://dl.doubtnut.com/l/_ROHLbm4e0y6W
https://dl.doubtnut.com/l/_bwhwGhSV6unP
https://dl.doubtnut.com/l/_4JeWbaqHHjNr


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3CHO, RMgX

C6H5OH, NaOH, CH3l

C6H5OH, neutralFeCl3

C6H5 − CH3 :CH3COOl, AlCl3

73. When  reacts with one mole of Hl,

one of the products formed is

A. ethane

B. ethanol

C. iodoethane

D. ethanal

Answer: D

CH2 = CH − O − CH2 − CH3

https://dl.doubtnut.com/l/_4JeWbaqHHjNr
https://dl.doubtnut.com/l/_oYgw2TwYHNwt


Watch Video Solution

74.  of a monohydric alcohol when added to methylmagnesium

iodide in ether liberates at STP  of methane. With PCC,the same

alcohol forms a carbonyl compound that answers silver mirror test. The

monohydric alcohol is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

0.44g

112cm3

(CH3)3C − CH2OH

(CH3)2CH − CH2OH

https://dl.doubtnut.com/l/_oYgw2TwYHNwt
https://dl.doubtnut.com/l/_t3PMuGoiT4fW


75. 


The IUPAC name of 'B' is

A. 3-methylbutan-2-ol

B. 2-methylbutan-2-ol

C. 2-methylbutan-3-ol

D. pentan-2-ol

Answer: A

Watch Video Solution

76. Discuss Mond's Process for refining of nickel.

Watch Video Solution

https://dl.doubtnut.com/l/_5TZebytISA6c
https://dl.doubtnut.com/l/_TWIF3bDFDY87


77. Iodoform reaction is answered by all,except

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3CHO

CH3CH2 − OH

CH3 − CH2 − CH2OH

78. Which of the following alcohols has highest solubility in water ?

A. Tertiary butyl alcohol

B. Secondary butyl alcohol

C. Ethylene glycol

D. Glycerol

https://dl.doubtnut.com/l/_SyU0ksSziVwU
https://dl.doubtnut.com/l/_HQ9G7ri9ZzPK


Answer: D

Watch Video Solution

79. In which of the following reactions of alcohol there is no cleavage of C-

O bond?

A. Dehydration reaction of alcohol

B. Oxidation reaction of alcohol

C. Reduction reaction of alcohol

D. Reduction of alcohol with phosphorus tribromide

Answer: B

Watch Video Solution

80. Write a balanced chemical equation for the reaction showing catalytic

oxidation of  by atmospheric oxygen.NH3

https://dl.doubtnut.com/l/_HQ9G7ri9ZzPK
https://dl.doubtnut.com/l/_G963MjlSjgrF
https://dl.doubtnut.com/l/_H5bbh7HDZ3EM


Watch Video Solution

81. Reimer -tiemann reaction Involves

A. carbonium ion intermediate

B. carbene Intermediate

C. carbanion intermediate

D. free radical intermediate

Answer: B

Watch Video Solution

82. When ethylene glycol is heated with acidified potassium

permanganate, the main organic compound obtained is

A. oxalic acid

B. glyoxal

https://dl.doubtnut.com/l/_H5bbh7HDZ3EM
https://dl.doubtnut.com/l/_cjYAopn3lZFC
https://dl.doubtnut.com/l/_mFxRSQ2qJ2Ya


C. formic acid

D. acetaldehyde

Answer: C

Watch Video Solution

83. The alcohol obtained by the hydrolysis of oils and fats is

A. glycol

B. glycerol

C. propanol

D. pentanol

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_mFxRSQ2qJ2Ya
https://dl.doubtnut.com/l/_8bkHrXU699PC


84. An organic acid without a carboxylic acid group is

A. picric acid

B. oxalic acid

C. vinegar

D. ascorbic acid

Answer: A

Watch Video Solution

85. The order of melting point of ortho, para , meta nitrophenol is

A. 

B. 

C. 

D. 

o > m > p

p > m > o

m > p > o

p > o > m

https://dl.doubtnut.com/l/_Rz8tdSylwtYx
https://dl.doubtnut.com/l/_aQDD8X0kT3X5


Answer: B

Watch Video Solution

86. 


Identify A and B.

A. Phenol,acetone

B. phenylacetaldehyde

C. Benzoic acid, acetone

D. Benzaldehyde,ethanol

Answer: A

https://dl.doubtnut.com/l/_aQDD8X0kT3X5
https://dl.doubtnut.com/l/_kNKlHYoE49NW


Watch Video Solution

87. Glycerol on oxidation with bismuth nitrate produce

A. glyceric acid

B. glyoxylic acid

C. oxalic acid

D. meso-oxalic acid

Answer: D

Watch Video Solution

88. Give the structure of pyrophosphoric acid.

Watch Video Solution

https://dl.doubtnut.com/l/_kNKlHYoE49NW
https://dl.doubtnut.com/l/_Y3rC7QFlQdCX
https://dl.doubtnut.com/l/_NxZiirgNTGHH


89. Assertion Glycerol is purified by distillation under reduced pressure.

Reason Glycerol is a trihydric alcohol.

A. If both Assertion and Reason are true and reason is correct

explanation of Assertion

B. If both Assertion and Reason are true but reason is not the correct

explanation of Assertion

C. If Assertion is true but Reason is false

D. If both Assertion and Reason are false

Answer: B

Watch Video Solution

90. Conversion of ethyl alcohol into acetaldehyde is an example of

A. hydrolysis

B. oxidation

https://dl.doubtnut.com/l/_fOze2hOjB7iR
https://dl.doubtnut.com/l/_0UCRS36L8EX5


C. reduction

D. molecular rearrangement

Answer: B

Watch Video Solution

91. Name three oxoacids of nitrogen. Write the disproportionation

reaction of that oxoacid of nitrogen in which nitrogen is in +3 oxidation

state.

Watch Video Solution

92. Phenol is treated with bromine water and shaken well. The white

precipitate formed during the process is

A. m-bromophenol

B. 2,4,6-tribromophenol

https://dl.doubtnut.com/l/_0UCRS36L8EX5
https://dl.doubtnut.com/l/_5HO1gLyg79hM
https://dl.doubtnut.com/l/_unM6ZyPFeWK7


C. 2-4 dibromophenol

D. a mixture of o-and p-bromophenols

Answer: B

Watch Video Solution

93. The main product obtained from phenol with  is

A. BHC

B. hexachlorobenzene

C. chlorobenzene

D. triphenyl phosphate

Answer: D

Watch Video Solution

PCl5

https://dl.doubtnut.com/l/_unM6ZyPFeWK7
https://dl.doubtnut.com/l/_FFRhyeVJQnAo


94. Upon treatment with  and aqueous  which of the following

compounds will from iodoform?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

I2 NaOH1

CH3CH2CH2CH2CHO

CH3CH2COCH2CH3

CH3CH2CH2CH2CH2OH

CH3CH2CH2CH(OH)CH3

95. Which one of the following properties is exhibited by phenol?

A. It is soluble in aq. NaOH and evolves  with aq.

B. It is soluble in aq. NaOH and does not evolve  with aq. 

C. It is not soluble in aq. NaOH but evolves  with aq.

CO2 NaHCO3

CO2

NaHCO3

CO2 NaHCO3

https://dl.doubtnut.com/l/_i9Lz1Z8YhPKz
https://dl.doubtnut.com/l/_6PzWrlxcFZmo


D. It is insoluble in aq. NaOH and does not evolve  with aq. 

Answer: B

Watch Video Solution

CO2

NaHCO3

96. The reaction of phenol with excess of bromine water gives

A. m-bromophenol

B. o-and p-bromophenol

C. 2,4-dibromophenol

D. 2,4,6-tribromophenol

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_6PzWrlxcFZmo
https://dl.doubtnut.com/l/_RuMG4NzzGDFX


97. Power alcohol is a mixture of

A.  petrol +  ethanol+small quantity of benzene

B.  ethanol +  benzene+small quantity of petrol

C.  petrol  ethanol+ small quantity of benzene

D.  petrol+  benzene+small quantity of ethanol

Answer: A

Watch Video Solution

80% 20%

80% 20%

50% +50%

80% 20%

98. Which of the following alcohol is unable to turn orange colour of

chromic acid to green?

A.  alcohol

B.  alcohol

C.  alcohol

D. Allyl alcohol

1∘

2∘

3∘

https://dl.doubtnut.com/l/_93UOHQf1oSIR
https://dl.doubtnut.com/l/_dXTGYrdKxR2u


Answer: C

Watch Video Solution

99. In the conversion of ethanol into methanol which of the following

reagents will be used?

A. 

B. NaOH+CaO

C. 

D. All of these

Answer: D

Watch Video Solution

K2Cr2O7 /H2SO4

Cl2 + aqKOH

100. Which of the following compounds can be used as antifreeze in

automobile radiators?

https://dl.doubtnut.com/l/_dXTGYrdKxR2u
https://dl.doubtnut.com/l/_muEP46QAAJ3D
https://dl.doubtnut.com/l/_xUGWpV2cTBGd


A. Methyl alcohol

B. Glycol

C. Nitrophenol

D. Ethyl alcohol

Answer: B

Watch Video Solution

101. HCHO was treated with reagent X. The product formed upon

hydrolysis in the presence of an acid gave  .The reagent X is

A. alcoholic KOH

B. alcoholic KCN

C. 

D. aq.KOH

Answer: C

C2H5OH

CH3Mgl

https://dl.doubtnut.com/l/_xUGWpV2cTBGd
https://dl.doubtnut.com/l/_VbATigiT722G


Watch Video Solution

102. The acid which do not contain carboxylic acid is

A. glutaric acid

B. picric acid

C. stearic acid

D. Terephthalic acid

Answer: B

Watch Video Solution

103. The most suitable reagent for the conversion of

 is

A. 

B. 

RCH2OH → RCHO

KMnO4

K2Cr2O7

https://dl.doubtnut.com/l/_VbATigiT722G
https://dl.doubtnut.com/l/_frtwFf0geyid
https://dl.doubtnut.com/l/_vQglnFNUnQk6


C. PCC

D. 

Answer: C

Watch Video Solution

CrO3

104. Why transition elements are less reactive than alkali and alkaline

earth metals though they contain same number of electrons in the

valence shell?

Watch Video Solution

105. The alcohol that produces turbidity immediately with Lucas reagent

at room temperature is

A. 1-hydroxy butane

B. 2-hydroxy butane

https://dl.doubtnut.com/l/_vQglnFNUnQk6
https://dl.doubtnut.com/l/_CmlSQRKcJfad
https://dl.doubtnut.com/l/_u25OPRAmGjUy


C. 2-hydroxy-2- methyl propane

D. 1-hydroxy -2-methyl propane

Answer: C

Watch Video Solution

106. Of  and  which is more acidic and why?

Watch Video Solution

PH3 H2S

107. Fluorine gas cannot be prepared by heating NaF and  with

conc. . Why?

Watch Video Solution

MnO2

H2SO4

108. What is Mischmetal?

Watch Video Solution

https://dl.doubtnut.com/l/_u25OPRAmGjUy
https://dl.doubtnut.com/l/_s9tyhmdQOVku
https://dl.doubtnut.com/l/_dE1BxjyPweJT
https://dl.doubtnut.com/l/_xHPoIevPBPOr


109. 


Compounds A and B are respectively.

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_xHPoIevPBPOr
https://dl.doubtnut.com/l/_RZ1ojsNPqCtT


110. In the given reaction 




[X] and[Y] are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_42MI4xZz0LoJ


111. Which of the following compounds on reaction with

(excess )will give a tertiary alcohol?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3MgBr

C2H5CHO

C2H5COOCH3

C2H5COOH

112. Nitric acid forms an oxide of nitrogen on reaction with . Write

the reaction involved.

Watch Video Solution

P4O10

https://dl.doubtnut.com/l/_TWMbBGNKFQ1L
https://dl.doubtnut.com/l/_ImTkcT34308z


113. 


can be prepared from which of the following combinations?

A. 

B. 

C. 

D. All of these

Answer: D

Watch Video Solution

C6H5 − CHOandCH3MgCl

C6H5MgBrandCH3CHO

https://dl.doubtnut.com/l/_JQ1Y5i4hWpnB


114. Explain why inspite of nearly the same electronegativity, oxygen

forms hydrogen bonds while chlorine does not.

Watch Video Solution

115. Explain copolymerization with examples.

Watch Video Solution

116. Diphenyls are potential threat to the environment. How are these

produced from aryl halides?

Watch Video Solution

117. Sodium hydroxide is manufactured by the electrolysis of brine

solution. The reaction by-products are:

A. (a)  and Cl2 H2

https://dl.doubtnut.com/l/_BCY9Zse4u1Bj
https://dl.doubtnut.com/l/_HRatqckYZjDT
https://dl.doubtnut.com/l/_TUrAFPhIjyc2
https://dl.doubtnut.com/l/_q6GrLeh0lKkj


B. (b)  and Na-Hg

C. (c)  and NaCl

D. (d)  and 

Answer: A

Watch Video Solution

Cl2

Cl2

Cl2 O2

118. Which of the following reacts with HBr at faster rate?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_q6GrLeh0lKkj
https://dl.doubtnut.com/l/_ZMU9VpSmQUGk


D. 

Answer: B

Watch Video Solution

119. The order of reactivity of the following alcohols towards conc.HCl is

A. 

B. 

C. 

I > II > III > IV

I > III > II > IV

IV > III > II > I

https://dl.doubtnut.com/l/_ZMU9VpSmQUGk
https://dl.doubtnut.com/l/_GMWebQi06QIy


D. 

Answer: C

Watch Video Solution

IV > III > II > I

120. Which one of the following compounds decolourises aqueous

bromine and also gives white fumes of HCl on reaction with ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

PCl5

CH3CH2CH2CH2OH

CH3COCH2CH = CH2

CH3OCH2CH2CH2OH

CH3 − CH = CH − CH2 − OH

https://dl.doubtnut.com/l/_GMWebQi06QIy
https://dl.doubtnut.com/l/_LGMOVoLGJLr3


121. When 




undergoes , then what will be the major product?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H2SO4

https://dl.doubtnut.com/l/_pwi0clnOC6o8
https://dl.doubtnut.com/l/_xurItxdmPOpu


122. Which of the following will be the major product when 

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_xurItxdmPOpu


Answer: D

Watch Video Solution

123. The compound that reacts fastest with Lucas reagent (Conc.

) at room temperature is

A. butan-1-ol

B. butan-2-ol

C. 2 methyl propan -1-ol

D. 2 methyl propan -2-ol

Answer: D

Watch Video Solution

HCl + ZnCl2

124. Which of the following statements is true regarding ?Be

https://dl.doubtnut.com/l/_xurItxdmPOpu
https://dl.doubtnut.com/l/_Ej1FWbHwXeTp
https://dl.doubtnut.com/l/_EZdXj7EJilRB


A. (a)  and  both are purely basic in nature.

B. (b)  can expand its covalency to six.

C. (c)  largely forms covalent compounds which get easily

hydrolysed.

D. (d)  combines with hydrogen upon heating to form 

Answer: A

Watch Video Solution

BeO Be(OH)2

Be

Be

Be BeH2

125. The decreasing order of acidic strength of the following

A. IV > III > II > I

https://dl.doubtnut.com/l/_EZdXj7EJilRB
https://dl.doubtnut.com/l/_OHFhOnA2W3Bl


B. 

C. 

D. 

Answer: C

Watch Video Solution

II > IV > III > I

II > III > IV > I

II > I > III > IV

126. Convert ethanol to but-1-yne.

Watch Video Solution

127. Equimolar quantities of ethanol and methanol are heated with conc

.The product(s) formed is/are

A. 

B. 

C. 

H2SO4

C2H5 − O − C2H5

CH3 − O − CH3

C2H5 − O − CH3

https://dl.doubtnut.com/l/_OHFhOnA2W3Bl
https://dl.doubtnut.com/l/_cYqfQ9hXLsQE
https://dl.doubtnut.com/l/_q33g8TsxMyZI


D. All of these

Answer: D

Watch Video Solution

128. Select the correct statement(s):

A. (a)  is more soluble in a solution of  than in 

B. (b)  is converted to  and  on heating

C. (c)  is thermally unstable.

D. (d) Presence of  or  in water causes temporary

hardness.

Answer: B

Watch Video Solution

CaCO3 CO2 H2O

Na2CO3 Na2O CO2

Li2CO3

CaCl2 CaSO4

https://dl.doubtnut.com/l/_q33g8TsxMyZI
https://dl.doubtnut.com/l/_TpT2zqAukh3d


129. When methyl t-butyl ether is formed ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(C2H5)3CONa + CH3Cl

CH3ONa + (CH3)3Cl

(CH3)3CONa + C2H5Cl

(CH3)3CONa + CH3Cl

130. Which of the following statement(s) is/are correct?

A. (a) Pure Sodium oxide is obtained by heating the mixture of sodium

azide and sodium nitrite.

B. (b) Glauber's salt effloresces in moist air.

https://dl.doubtnut.com/l/_FvwLq1539ynJ
https://dl.doubtnut.com/l/_0AUlwYWzfXvU


C. (c) Potassium superoxide on heating in an evacuated and sealed

tube yields sodium thiosulphate.

D. (d) Gypsum dissolve in ammonium sulphate solution.

Answer: C

Watch Video Solution

131. Diethyl ether on heating with conc. HI gives two moles of

A. ethanol

B. iodoform

C. ethyl iodide

D. methyl iodide

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_0AUlwYWzfXvU
https://dl.doubtnut.com/l/_l2szr7gRxuRw
https://dl.doubtnut.com/l/_trzS5A5eD4Cc


132. tert-butyl methyl ether on heating with HI (1 mol) gives a mixture of

A. tert-Butyl alcohol and methyl iodide

B. tert-Butyl Iodide and methanol

C. Isobutylene and methyl iodide

D. Isobutylene and methanol

Answer: B

Watch Video Solution

133. 


The product of the above reaction is

https://dl.doubtnut.com/l/_trzS5A5eD4Cc
https://dl.doubtnut.com/l/_iTAMuBqeczGl


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

134. THF is treated with excess of HBr at 373 K.The product is

A. 1,4-dibromobutane

B. 1-bromo-2-butene

https://dl.doubtnut.com/l/_iTAMuBqeczGl
https://dl.doubtnut.com/l/_3xXlNtUbYXK2


C. 4-bromo-1 butanol

D. 4-bromo-1- butene

Answer: A

Watch Video Solution

135. Select the correct choice for alkali metal oxides:

A. (a) Metal oxides react with water forming only metal hydroxides.

B. (b) Metal peroxides react with hot water forming metal hydroxides

and oxygen gas.

C. (c) Metal superoxides react with water forming metal hydroxides,

hydrogen peroxide and  gas.

D. (d) All of these.

Answer: D

Watch Video Solution

O2

https://dl.doubtnut.com/l/_3xXlNtUbYXK2
https://dl.doubtnut.com/l/_p42llphGkG02


136. The products formed when  is treated with HI

A.  and 

B.  and 

C. 

D.  and 

Answer: B

Watch Video Solution

(CH3)3COC2H5

(CH3)3CI CH3OH

(CH3)3CI C2H5OH

(CH3)2C(C2H5)IandCH3OH

C2H5I (CH3)2C(C2H5)I

137. Phenyl isocyanides are prepared by which of the following methods?

A. (a) Reimer-Tieman reaction

B. (b) Carbylamine reaction

C. (c) Rosenmund's reaction

https://dl.doubtnut.com/l/_p42llphGkG02
https://dl.doubtnut.com/l/_fBnspAdHLHhc
https://dl.doubtnut.com/l/_sCyYjsiZgecU


D. (d) Wurtz reaction.

Answer: B

Watch Video Solution

138. Aniline is reacted with bromine water and the resulting product is

treated with an aqueous solution of sodium nitrite in presence of dilute

hydrochloric acid. The compound so formed is converted into a

tetrafluoroborate which is subsequently heated dry. The final product is:

A. (a) p-bromoaniline

B. (b) p-bromofluorobenzene

C. (c) 1,3, 5-tribromobenzene

D. (d) 2, 4, 6-tribromofluorobenzene

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_sCyYjsiZgecU
https://dl.doubtnut.com/l/_dZnYc7rpHrJD


139. 0.36 g of an alcohol R-OH was added ot  and the gas

evolved measured 112 mL at STP. The molar mass of R-OH will be

A. 47

B. 79

C. 72

D. 77

Answer: C

Watch Video Solution

CH3MgBr

140. 10 g of a mixture of hexane and ethanol are reacted with sodium to

give 200 Ml hydrogen at  and 760 mm pressure. What is the

percentage of ethanol into the mixture?

A. 

B. 

27∘

4.6 %

8.13 %

https://dl.doubtnut.com/l/_EQZswEGelGUF
https://dl.doubtnut.com/l/_XWbFPKxp8dSI


C. 

D. 

Answer: D

Watch Video Solution

9.21 %

7.48 %

141. For carbylamine reaction, we need hot alcoholic  and:

A. (a) any primary amine and chloroform.

B. (b) chloroform and silver powder.

C. (c) a primary amine and an alkyl halide.

D. (d) a monoalkylamine and trichloromethane.

Answer: C

Watch Video Solution

KOH

https://dl.doubtnut.com/l/_XWbFPKxp8dSI
https://dl.doubtnut.com/l/_nGrbJeSaGT05


142. 


Compound ( C) is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

HOCH2 − CH2 − CH2 − CH2CH2CH2 − Cl

https://dl.doubtnut.com/l/_KauMbe6V50a0


143. A compound with molecular formula  is converted by the

action of acetyl chloride to a compound with molecular weight 190.The

original compound has

A. One OH group

B. Two OH groups

C. Three OH groups

D. No OH group

Answer: B

Watch Video Solution

C4H10O3

144. The electrolytic reduction of nitrobenzene in strongly acidic medium

produces:

A. (a) azobenzene

B. (b) aniline

https://dl.doubtnut.com/l/_vWMu4qOEU55u
https://dl.doubtnut.com/l/_4saQKVpHthcI


C. (c) p-aminophenol

D. (d) azoxybenzene

Answer: A

Watch Video Solution

145. Identify compounds (A)& (F) in the following sequence of reactions.

A. 

B. 

CH3 − CH2 − CH2 − Br, CH3 − CH2 − CH2 − O − CH2 − CH =

https://dl.doubtnut.com/l/_4saQKVpHthcI
https://dl.doubtnut.com/l/_6nCx6eRCz34I


C. 

D. 

Answer: D

Watch Video Solution

146. In the reaction




The major product A is

https://dl.doubtnut.com/l/_6nCx6eRCz34I
https://dl.doubtnut.com/l/_6PYrnxNMiX13


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

147. Which of the following will be obtained by keeping diethyl ether in

contact with air for a long time?

https://dl.doubtnut.com/l/_6PYrnxNMiX13
https://dl.doubtnut.com/l/_t6SP2IuG9YiD


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

C2H5OCH(CH3)OOH

CH3CH2OC2H4OH

(C2H5)O → OOH

C2H5OCH(CH3)OH

148. Among the alkenes which one produces tertiary butyl alcohol on acid

hydration?

A. 

B. 

C. 

D. 

Answer: C

CH3CH2CH = CH2

CH3CH = CH − CH3

(CH3)2C − CH2

CH3 − CH = CH2

https://dl.doubtnut.com/l/_t6SP2IuG9YiD
https://dl.doubtnut.com/l/_3u8CZrZ1vmwY


Watch Video Solution

149. The number of structural isomers possible from the molecular

formula .

A. (A) 5

B. (B) 2

C. (C) 3

D. (D) 4

Answer: D

Watch Video Solution

C3H9N

150. Method by which aniline cannot be prepared is:

A. (a) degradation of benzamide with bromine in alkaline solution

B. (b) reduction of nitrobenzene with /  in ethanolH2 Pd

https://dl.doubtnut.com/l/_3u8CZrZ1vmwY
https://dl.doubtnut.com/l/_JcPsi3hfi0yg
https://dl.doubtnut.com/l/_qtrvCIXbPWY1


C. (c) potassium salt of pthalimide treated with chlorobenzene

followed by hydrolysis with aqueous  solution.

D. (d) hydrolysis of phenylisocyanide with acidic solution.

Answer: B

Watch Video Solution

NaOH

151. Which of the following reagents can be used for the reduction of

?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3COOH → CH3CH2OH

LiaIH4 /H2O

B2H6 /H
+

H2 /Pd

NaBH4

https://dl.doubtnut.com/l/_qtrvCIXbPWY1
https://dl.doubtnut.com/l/_zXSSRbXiB5PV


152. Consider the following reduction and advise the best reagent.

A. HI/RedP

B. 

C. 

D. Zn-Hg/HCl

Answer: C

Watch Video Solution

LiAIH4 /H2O

NaBH4 /H2O

https://dl.doubtnut.com/l/_zXSSRbXiB5PV
https://dl.doubtnut.com/l/_gp2eRJmL7mlH


153. 


(A) is

A. 

B. 

C. 

D. 

Answer: D

https://dl.doubtnut.com/l/_cGbyM3NiIwkS


Watch Video Solution

154. The compound obtained by heating a mixture of ethyl amine and

chloroform with ethanolic potassium hydroxide ( ) is?

Watch Video Solution

KOH

155. Convert Nitrobenzene to Benzoic acid.

Watch Video Solution

156. Ethyl acetate . The product P is

A. 

B. 

( 1 )CH3MgBr ( excess ) −−−−−−→
(2 )H3O

+
P

https://dl.doubtnut.com/l/_cGbyM3NiIwkS
https://dl.doubtnut.com/l/_b18uWWSS6BNc
https://dl.doubtnut.com/l/_KQDi7Vybvl1i
https://dl.doubtnut.com/l/_gzWSw2HFUswH


C. 

D. 

Answer: A

Watch Video Solution

157. Give the major organic product of the following reaction.

A. 

B. 

https://dl.doubtnut.com/l/_gzWSw2HFUswH
https://dl.doubtnut.com/l/_Kmk4vEQclVhc


C. 

D. 

Answer: C

Watch Video Solution

158. Which of the following will be most stable diazonium salt 

?

A. (A) 

B. (B) 

C. (C) 

D. (D) 

Answer: A

RN +
2 X −

CH3N
+
2 X −

C6H5N
+
2 X −

CH3CH2N
+
2 X −

C6H5CH2N
+
2 X −

https://dl.doubtnut.com/l/_Kmk4vEQclVhc
https://dl.doubtnut.com/l/_bz4uAYjntwlV


Watch Video Solution

159. Nitrobenzene on reaction with conc. /  at 80-100

degree celcius forms what?

Watch Video Solution

HNO3 H2SO4

160. Choose the reagent and reactant that would produce 2-methyl-2-

butanol as a major product.

A. Only I

B. Only I, III

https://dl.doubtnut.com/l/_bz4uAYjntwlV
https://dl.doubtnut.com/l/_qqzVBWK3HKD8
https://dl.doubtnut.com/l/_1nzXDzMkrhI3


C. Only II and III

D. I ,II and III

Answer: D

Watch Video Solution

161. Convert Benzene to m-bromophenol.

Watch Video Solution

162. Convert Benzoic acid to Aniline.

Watch Video Solution

163. Among the following carboxylic acids, the one which undergoes acid

catalysed esterification with  at the slowest rate isCH3OH

https://dl.doubtnut.com/l/_1nzXDzMkrhI3
https://dl.doubtnut.com/l/_sdkhGwvCp365
https://dl.doubtnut.com/l/_Mdl8pvVrV07E
https://dl.doubtnut.com/l/_LHGtoOxnSfeN


A. HCOOH

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3COOH

(CH3)3COOH

CH3CH2COOH

164. 


Rate of the reaction faster when R is

A. 

B. CH3 −

https://dl.doubtnut.com/l/_LHGtoOxnSfeN
https://dl.doubtnut.com/l/_qs0QOAztbMJs


C. 

D. equal in all case

Answer: B

Watch Video Solution

165. The order of reactivity of methyl alcohol (I) ,isopropyl alcohol (II)

tertiary butyl alcohol (III) and ethyl alcohol (IV) for esterification in

decreasing order will be

A. 

B. 

C. 

D. 

Answer: C

I > II > III > IV

IV > III > II > I

I > IV > II > III

I > IV > III > II

https://dl.doubtnut.com/l/_qs0QOAztbMJs
https://dl.doubtnut.com/l/_kxG1m6exCHCj


Watch Video Solution

166. In the given reaction correct order of reactivity of HX in decreasing

order is 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ROH + HX → RX + H2O

HCl > HBr > HI

HI > HCl > HBr

HI > HBr > HCl

HBr > HCl > HI

167. An unknown polyhydroxy compound (A) (molar mass=180) on

acylation gives a product (molar mass=390), then find the number of

hydroxyl group present in compound (A)

https://dl.doubtnut.com/l/_kxG1m6exCHCj
https://dl.doubtnut.com/l/_ZaMWR4Jep3qM
https://dl.doubtnut.com/l/_dcJ8enhOyvy9


A. 4

B. 5

C. 6

D. 10

Answer: B

Watch Video Solution

168. Convert Nitromethane to Dimethylamine.

Watch Video Solution

169. Convert Aniline to 2, 4, 6-Tribromofluorobenzene

Watch Video Solution

https://dl.doubtnut.com/l/_dcJ8enhOyvy9
https://dl.doubtnut.com/l/_dQaSowA83uWn
https://dl.doubtnut.com/l/_8daF7ZeJQfhv


170. Convert Benzyl Chloride to 2-phenylethanamine

Watch Video Solution

171. Convert Aniline to p-bromoaniline

Watch Video Solution

172. Which alkenes would you except to the major product of the

following dehydration ?

https://dl.doubtnut.com/l/_s9JQOgPKIPXz
https://dl.doubtnut.com/l/_wEAaLFnOnE7a
https://dl.doubtnut.com/l/_hH04i9JBkAdY


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

173. Convert Benzamide to toluene.

Watch Video Solution

https://dl.doubtnut.com/l/_hH04i9JBkAdY
https://dl.doubtnut.com/l/_F51v50aO9udQ


174. 


?

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_6yTttkmwNWgK


Answer: B

Watch Video Solution

175. 


?

A. 

B. 

https://dl.doubtnut.com/l/_6yTttkmwNWgK
https://dl.doubtnut.com/l/_0mKD3CB7Y2JD


C. 

D. 

Answer: B

Watch Video Solution

176. Convert Chlorobenzene to p-chloroaniline.

Watch Video Solution

177. Convert Aniline to Benzyl alcohol.

Watch Video Solution

https://dl.doubtnut.com/l/_0mKD3CB7Y2JD
https://dl.doubtnut.com/l/_pnxLLBFPSfoj
https://dl.doubtnut.com/l/_IYFAnnUGuzPT


Watch Video Solution

178. Aniline is soluble in aqueous HCl. Why?

Watch Video Solution

179. Which of the following alcohols form white with Lucas reagent at

warming condition?

A. 

B. 

C. 

D. all of these

Answer: D

Watch Video Solution

CH3CH2 − OH

https://dl.doubtnut.com/l/_IYFAnnUGuzPT
https://dl.doubtnut.com/l/_i4aCs3xDtPG8
https://dl.doubtnut.com/l/_xbSnvcsoszDe
https://dl.doubtnut.com/l/_m0LPEtaiarpG


180. The Lucas test is used to distignuish  alcohols. The

alcohol to be tested is added to a solution of anhydrous  in conc.

HCI at room temperature. Which of the following statements is not

correct?

A. - alcohols dissolve, but do not react

B. -alcohols react quickly to give an insoluble alkyl chloride

C. -alcohols rapidly dehydrate and the gaseous alkene bubbles out

of the test solution

D.  -alcohols dissolve and react slowly to give an insoluble alkyl

chloride

Answer: C

Watch Video Solution

1∘ , 2∘ and3∘

ZnCl2

1∘

3∘

3∘

2∘

181. Convert 2-(2-Chloroethyl)-cyclohexan-1-one to 2-(3-Aminopropyl)-

cyclohexan-1-one.

https://dl.doubtnut.com/l/_m0LPEtaiarpG
https://dl.doubtnut.com/l/_TyKVr6HjrxP1


Watch Video Solution

182. Convert Propanoic acid to Ethanoic acid

Watch Video Solution

183. Convert Methanamine to ethanamine.

Watch Video Solution

184. Convert Ethanamine to Methanamine.

Watch Video Solution

185. The Conversion of m-nitrophenol to resorcinol involves respectively

A. hydrolysis, diazotization and reduction

https://dl.doubtnut.com/l/_TyKVr6HjrxP1
https://dl.doubtnut.com/l/_KVIJFN3nmCYH
https://dl.doubtnut.com/l/_NyWKCE2I1YOH
https://dl.doubtnut.com/l/_R8uqKBb0NnKc
https://dl.doubtnut.com/l/_6dHoFekpWoib


B. diazotization, reduction and hydrolysis

C. hydrolysis, reduction and diazotization

D. reduction, diazotization and hydrolysis

Answer: D

Watch Video Solution

186. 


Products (A)and(B) are respectively

A. 

B. 

C. 

https://dl.doubtnut.com/l/_6dHoFekpWoib
https://dl.doubtnut.com/l/_TzGZxSR4IY5s


D. 

Answer: C

Watch Video Solution

187. Chlorobenzene Salicylaldehyde


X and Y reactions are respectively

A. Fries rearrangement and Kolbe-Schmitt

B. Cumene and Reimer-Tiemann

C. Dow and Reimer-Tiemann

D. Dow and Friedel -Craft

Answer: C

Watch Video Solution

Reaction
−−−−→

X
Phenol

Reaction
−−−−→

Y

https://dl.doubtnut.com/l/_TzGZxSR4IY5s
https://dl.doubtnut.com/l/_emDz94qp1ii6


188. 


compound A and B are respectively

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_1tX7rUmnCJ0z


Answer: B

Watch Video Solution

189. In the following , the order of acidity is 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

III > IV > I > II

I > IV > III > II

II > I > III > IV

IV > III > I > II

https://dl.doubtnut.com/l/_1tX7rUmnCJ0z
https://dl.doubtnut.com/l/_mUBXpip6P6vg


190. Which of the following compounds released  from 

solution?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CO2 NaHCO3

https://dl.doubtnut.com/l/_8OU7gC8xAXMV
https://dl.doubtnut.com/l/_tyWQCyHDBUv5


191. Consider the following sequence of reactions

(major product)


The product (B) is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C6H5OH
(CH3CO2 )O
−−−−−−−→

pyridine
(A)

AICI3
−−−→
160 ∘C

(B)

https://dl.doubtnut.com/l/_tyWQCyHDBUv5
https://dl.doubtnut.com/l/_NNux0IfGGkI5


192. When phenol is refluxed with allyl bromide in acetone solution in the

presence of anhydrous potassium carbonate a product may be isolated

which, on heating to  is converted mainly to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

200∘C

193. Which of the following alcohols gives the best yield of dialkyl ether

on being heated with a trace of sulphuric acid?

https://dl.doubtnut.com/l/_NNux0IfGGkI5
https://dl.doubtnut.com/l/_86VzZ3VxGOiZ


A. 2-pentanol

B. cyclopentanol

C. 2-methyl-2-butanol

D. 1-pentanol

Answer: D

Watch Video Solution

194. Williamson synthesis is an example of

A. Nucleophilic addition

B. Nucleophilic substitution

C. Electrophilic addition

D. Electrophilic substitution

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_86VzZ3VxGOiZ
https://dl.doubtnut.com/l/_6wy5el7uxula


195. Complete the following reaction

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

C6H5OC2H5

C2H5 − O − C2H5

C6H5OC6H5

C6H5I

196. Which of the following ethers is/are not prepared by Williamson's

synthesis ?

https://dl.doubtnut.com/l/_6wy5el7uxula
https://dl.doubtnut.com/l/_6J85OsTESLcJ
https://dl.doubtnut.com/l/_0rTGXoH7QghC





A. only I and II

B. only I, III and IV

C. only I, II and III

D. I, II ,III and IV

https://dl.doubtnut.com/l/_0rTGXoH7QghC


Answer: B

Watch Video Solution

197. Which of the following is correct about the ether?

A. diethyl ether has zero dipole moment

B. dimethyl ether is highly soluble in water

C. dimethyl ether and ethyl methyl ether are yellow colour liquid at

ordinary temperature

D. The bond angle of C-O-C in ether is lower than the bond angle of H-

O-H in water

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_0rTGXoH7QghC
https://dl.doubtnut.com/l/_MeLpWMMPYC7V


198. 


(B) turns neutral `FeCl_3 violet. (B) and ( C) are respectively

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_xHxQG0XxdTJR


199. 


The products are respectively

A. 

B. 

C. 

D. None of these

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_WSDJwfISyQYY


200. 


Products  and  respectively are

A. 

B. 

C. in both the cases

D. `CH_3I and (CH_3)_3 CI in both the cases

Answer: A

Watch Video Solution

P − 1 P2

(CH3) − 3CI + CH3OHand(CH3)3CI + CH3I

(CH3)3CI + CH3Iand(CH3)3COH + CH3I

(CH3)3CI + CH3OH

https://dl.doubtnut.com/l/_MzAevxuZZCBw


201. For the reaction 




The product obtained is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_cyO69Fc7QyzA
https://dl.doubtnut.com/l/_X3ahfxEZxiKX


202. The major product of the following reaction is 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_X3ahfxEZxiKX
https://dl.doubtnut.com/l/_jLZ3j7kkdTKR


203. 


x moles of of HI is consumed. The value of x is

A. 2

B. 3

C. 5

D. 6

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_jLZ3j7kkdTKR


204. Consider the following reactions 




and choose the correct answer

A. A and B are both 3- methoxy-3-methyl-butan-2-ol

B. A and B both are 3-methoxy-2-methyl-butan-2-ol

C. A is 3-methoxy-2-methyl-2-butan-2-ol and B is 3-methoxy-3-methyl-

butan-2-ol

D. A is 3-methoxy-3-methyl-butan-2-ol and B is 3-methoxy-2-methyl-

butan-2-ol

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_bRfDEfo964Gu
https://dl.doubtnut.com/l/_h8lGF64QU2hD


205. In the reaction

,


the products is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_h8lGF64QU2hD


206. Convert Ethanoic acid to propanoic acid.

Watch Video Solution

207. (I)1,2-dihydroxybenzene 

(II)1,3-dihydroxybenzene

(III)1,4-hydroxybenzene

(IV)Hydroxybenzene

The increasing order of boiling points of the above mentioned

compounds is

A. 

B. 

C. 

D. 

Answer: C

I < II < III < IV

I < II < IV < III

IV < I < II < III

IV < II < I < III

https://dl.doubtnut.com/l/_h8lGF64QU2hD
https://dl.doubtnut.com/l/_3mauzIWQU10Z
https://dl.doubtnut.com/l/_mIWp3u2Sr4e6


Watch Video Solution

208. 


Product Z of above reaction is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_mIWp3u2Sr4e6
https://dl.doubtnut.com/l/_OLbI1pHbsr9x


Watch Video Solution

209. 0.092 g of a compound with the molecular formula  on

reaction with an excess of  gives 67.00 mL Of methane at STP.

The number of active hydrogen atoms present in a molecule of the

compound

A. one

B. two

C. three

D. four

Answer: C

Watch Video Solution

C3H8O3

CH3MgI

210. What is the major organic final product of the following sequence of

reactions ?

https://dl.doubtnut.com/l/_OLbI1pHbsr9x
https://dl.doubtnut.com/l/_vNTqMJWrfED1
https://dl.doubtnut.com/l/_bRggjZYyu7lh


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(CH3)2CHCH2CH2OH

(CH3)2CHCH2CH2CH2OH

211. Which sequence of steps describes the best synthesis of 2-methyl-3-

pentanone?

https://dl.doubtnut.com/l/_bRggjZYyu7lh
https://dl.doubtnut.com/l/_AGbWSf0MhtFg


A. (a)1-propanol + CHMgBr, diethyl ether 

(b)  


( c)

B. (a)1-propanol +  heat 


(b) 


(c ) 

C. (a)1-Propanol+PCC,  


(b)(CH_3)_2 H_3O^+

Na_2Cr_2O_7,H_2SO_4,H_2O,`heat

D. (a)2-Propanol + heat 


(b)  diethyl ether


(CH3)2

H3O
+

PC, CH2CI2

Na2Cr2O7,H2SO4,H2O

SOCI2

(CH3)2CHCI, AICI3

CH2Cl2

CHLi, diethylether(c) (d)

Na2Cr2O7,H2SO4,H2O

CH3CH2CH2Li

https://dl.doubtnut.com/l/_AGbWSf0MhtFg


( c) 


(d)

Answer: C

Watch Video Solution

H3O
+

PC, CH2Cl2

212. Consider the following reaction,

Product


Among the following which one cannot be formed as a product under any

conditions?

A. Ethyl hydrogen sulphate

B. Ethylene

C. Acetylene

D. Diethyl ether

Answer: C

Watch Video Solution

C2H5OH + H2SO4 →

https://dl.doubtnut.com/l/_AGbWSf0MhtFg
https://dl.doubtnut.com/l/_yVONuiwOjjss


Watch Video Solution

213. In which of the following reactions inversion of configuration takes

place?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_yVONuiwOjjss
https://dl.doubtnut.com/l/_DHfOT1affuTw


214. Identify the major product,

A. 

B. 

C. 

https://dl.doubtnut.com/l/_zWePV2oJCSGq


D. 

Answer: A

Watch Video Solution

215. 


Product (B ) of the above reaction is

A. 

B. 

https://dl.doubtnut.com/l/_zWePV2oJCSGq
https://dl.doubtnut.com/l/_NbYTB7WoKgNF


C. 

D. 

Answer: C

Watch Video Solution

216. Two aromatic compounds having formula  which are easily

identifiable by FeCl_3` solution test (Violet colouration ) are

A. o-cresol and benzyl alcohol

B. m-cresol and p-cresol

C. o-cresol and p-cresol

D. methyl phenyl ether and benzyl alcohol

Answer: A

C7H8O

https://dl.doubtnut.com/l/_NbYTB7WoKgNF
https://dl.doubtnut.com/l/_aPactCauvT96


Watch Video Solution

217. 


Here the major product is

A. 

B. 

https://dl.doubtnut.com/l/_aPactCauvT96
https://dl.doubtnut.com/l/_YKm6XuY8xsoa


C. 

D. 

Answer: B

Watch Video Solution

218. 


Product ( C) of the above reaction is

A. 

https://dl.doubtnut.com/l/_YKm6XuY8xsoa
https://dl.doubtnut.com/l/_Zoy1tLyK5is1


B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Zoy1tLyK5is1


219. 


Major product of the above rearrangement reaction is

A. 

B. 

https://dl.doubtnut.com/l/_GMizJrpXmomg


C. 

D. 

Answer: D

Watch Video Solution

220. In the reaction,




What is (X)?

A. diethyl carbonate

https://dl.doubtnut.com/l/_GMizJrpXmomg
https://dl.doubtnut.com/l/_zwRsCJuCRI6F


B. ethyl carbonate

C. diethyl peroxide

D. ethyl propionate

Answer: D

Watch Video Solution

221. 


Here product D is

A. 

https://dl.doubtnut.com/l/_zwRsCJuCRI6F
https://dl.doubtnut.com/l/_kDBQI0pkBbXv


B. 

C. 

D. 

Answer: B

Watch Video Solution

222. 


This transformation can be carried out by

https://dl.doubtnut.com/l/_kDBQI0pkBbXv
https://dl.doubtnut.com/l/_Niqd47RRyTu1


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H +Δ, Zn(Hg)HCl

HIO4, LiAIH4 /H2O

HIO4,H
+ /Δ

H + /Δ,HIO4

223. Compound (A) molecular formula  is optically active and is

oxidized by PCC in  to an optically active  product, which

is racemized in acid or base. The compound (A) may be

A. 2-pentanol

B. 2-methoxybutane

C. 2-methyl-1-butanol

D. 3-methyl-1-butanol

C5H12O

CH2Cl2 C5H10O

https://dl.doubtnut.com/l/_Niqd47RRyTu1
https://dl.doubtnut.com/l/_cKWyk71e1mgW


Answer: C

Watch Video Solution

224. Predict the major product of the following reaction 

A. 

B. 

C. 

https://dl.doubtnut.com/l/_cKWyk71e1mgW
https://dl.doubtnut.com/l/_89xCb1p8czrR


D. 

Answer: C

Watch Video Solution

225. The correct statement(s) about the following reaction sequence is

(are)




(1)R is steam volatile 

(2) Q gives dark violet coloration with  aqueous  solution 


(3) S gives yellow precipitate with 2,4-dinitrophenylhydrazine 

(4) S gives dark violet coloration with  aqueous  solution

1% FeCl3

1% FeCl3

https://dl.doubtnut.com/l/_89xCb1p8czrR
https://dl.doubtnut.com/l/_A4qsZjAQSTT2


Watch Video Solution

226. The reactivity of compound Z with different halogens under

appropriate conditions is given below




(1)the steric effect of the halogen 

(2)the steric effect of tert-butyl group

(3)the electronic effect of the phenolic group 

(4)the electronic effect of the tert-butyl group

Watch Video Solution

https://dl.doubtnut.com/l/_A4qsZjAQSTT2
https://dl.doubtnut.com/l/_Z2GZQIAT2XiC


227. The acidic hydrolysis of ether (X)shown below is fastest when

A. One phenyl group is replaced by a methyl group.

B. One phenyl group is replaced by a para methoxyphenyl group.

C. Two phenyl groups are replaced by two para methoxyphenyl

groups.

D. No structural change is made to X.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_vzWaIuEJ9LAd


228. For the identification of  naphthol using dye test, it is necessary to

use

A. dichloromethane solution of  -naphthol.

B. acidic solution of -naphthol.

C. neutral solution of -naphthol.

D. alkaline solution of -naphthol.

Answer: D

Watch Video Solution

β

β

β

β

β

229. Explain why aniline is not as basic as ammonia.

Watch Video Solution

230. An unknown alcohol is treated with the "Lucas reagent" to determine

whether the alcohol is primary, secondary or tertiary. Which alcohol

https://dl.doubtnut.com/l/_tUreu1u72HJF
https://dl.doubtnut.com/l/_rB6tL4pbp27j
https://dl.doubtnut.com/l/_TAHDAhpxEq8l


reacts fastest and by what mechanism?

A. Secondary alcohol by SN1

B. Tertiary alcohol by SN2

C. Secondary alcohol by SN2

D. Tertiary alcohol by SN1

Answer: D

Watch Video Solution

231. Which of the following reagents can be used to carry out the

following transformation?

A. OsO4 /NaHSO3

https://dl.doubtnut.com/l/_TAHDAhpxEq8l
https://dl.doubtnut.com/l/_WLASdIKncaus


B. Cold aq 

C. 

D. 

Answer: C::D

Watch Video Solution

KMnO4

CH3COOH /H2O2 /H3O
⊕

m − CPBA/H3O
⊕

232. 


Identify (X) and (Z) in the above sequence of reaction

Watch Video Solution

(X) + Mg
dry
−−→
ether

(Y )
( i ) (Z )

−−−−−→
( ii )H3O+

CH3CH2CH2OH

https://dl.doubtnut.com/l/_WLASdIKncaus
https://dl.doubtnut.com/l/_Qa5Ig5Ey7IM3


233. Among the given geminal diols, which is/are stable with respect to

their corresponding carbonyls?

A. 

B. 

C. 

D. 

Watch Video Solution

234. Dehydration of alcohols take place more rapidly with POCl_3

H2SO4`. Select correct statement(s) about the followingthanwith

https://dl.doubtnut.com/l/_iM4gVZwJMqAj
https://dl.doubtnut.com/l/_EmfLryEHhzXg


dehydration reaction

A. It does not involve carbocation

B. It involves  with-  as a better leaving group

C. It involves E2 mechanism as pyridine base abstracts proton from

the adjacent carbon at the same time at which -  is leaving

D. It is E1 reaction without formation of carbocation

Watch Video Solution

R − OPOCl2 OPOCI2

OPOCl2

235. Which of the following alcohols turn(s)  in  into green?

A. 

CrO3 H2SO4

https://dl.doubtnut.com/l/_EmfLryEHhzXg
https://dl.doubtnut.com/l/_KKljIB9y4Ew9


B. 

C. 

D. 

Answer: B::C

Watch Video Solution

(H3C)3C − OH

236. Complete the following reaction

A. 

B. 

NaBH4 /H2O

Zn − Hg/conc.HCl

https://dl.doubtnut.com/l/_KKljIB9y4Ew9
https://dl.doubtnut.com/l/_JU7bhnRQGnU7


C. 

D. 

Answer: C::D

Watch Video Solution

LiAIH4 /H2O

Ni/H2

237. Which of the following alcohols respond(s) to iodoform test?

A. 

B. 

C. 

D. 

Answer: A::D

Watch Video Solution

https://dl.doubtnut.com/l/_JU7bhnRQGnU7
https://dl.doubtnut.com/l/_LviYx35RXpac


238. Ethanol is less acidic than

A. Acetic acid

B. Water

C. Phenol

D. p-nitrophenol

Answer: A::B::C::D

Watch Video Solution

239. Phenol is less acidic than

A. acetic acid

B. p-methoxyphenol

C. p-nitrophenol

D. ethane

https://dl.doubtnut.com/l/_EqkOL7F0gkD2
https://dl.doubtnut.com/l/_eyrynSyiF3fK


Answer: A::C

Watch Video Solution

240. Which of the following compounds is/are soluble in ?

A. 

B. 

C. 

D. 

NaHCO3

https://dl.doubtnut.com/l/_eyrynSyiF3fK
https://dl.doubtnut.com/l/_QpMLsXYw0Eaf


Answer: A::D

Watch Video Solution

241. Reimer Tiemann introduces an aldehyde group on to the aromatic

ring of phenol, ortho to the hydroxyl group. This reaction involves

electrophilic aromatic substitution. This is a general method for the

synthesis of substituted salicylaldehydes as depicted below.




The electrophile in this reaction is

A. :CHCI

B. 

C. :CCl_2`

D. :CCl_3`

: +CHCl)2

https://dl.doubtnut.com/l/_QpMLsXYw0Eaf
https://dl.doubtnut.com/l/_U4L5K1Vsj0dE


Answer: C

Watch Video Solution

242. Reimer Tiemann introduces an aldehyde group on to the aromatic

ring of phenol, ortho to the hydroxyl group. This reaction involves

electrophilic aromatic substitution. This is a general method for the

synthesis of substituted salicylaldehydes as depicted below.




The structure of the intermediate (X) is

A. 

https://dl.doubtnut.com/l/_U4L5K1Vsj0dE
https://dl.doubtnut.com/l/_6IRw31QiCFws


B. 

C. 

D. 

Answer: B

Watch Video Solution

243. Two isomeric forms of an organic compound A,  readily

decolourise  and give same compound (B) on catalytic

hydrogenation. Both the isomeric forms on vigorous oxidation give ( c)

which on treatment with soda lime gives 2-chloroethoxy benzene.

However, ( C) on treatment with Ni/Al alloy in alkaline medium gives 3-

C11H13OCl

Br2 /H2O

https://dl.doubtnut.com/l/_6IRw31QiCFws
https://dl.doubtnut.com/l/_8zqdgDSNHhk8


ethoxybenzoic acid. Only one of the isomers of (A) gives geometrical

isomer D and E.

The structural formula of (A) is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_8zqdgDSNHhk8


244. Two isomeric forms of an organic compound A,  readily

decolourise  and give same compound (B) on catalytic

hydrogenation. Both the isomeric forms on vigorous oxidation give ( c)

which on treatment with soda lime gives 2-chloroethoxy benzene.

However, ( C) on treatment with Ni/Al alloy in alkaline medium gives 3-

ethoxybenzoic acid. Only one of the isomers of (A) gives geometrical

isomer D and E.

The structural formula of (A) is

A. 

B. 

C11H13OCl

Br2 /H2O

https://dl.doubtnut.com/l/_e7Nh8Bbkueim


C. 

D. 

Watch Video Solution

245. Convert Methanol to Ethanoic acid.

Watch Video Solution

246. Convert Hexanenitrile into 1-aminopentane.

Watch Video Solution

https://dl.doubtnut.com/l/_e7Nh8Bbkueim
https://dl.doubtnut.com/l/_2IhNxSMx1EhD
https://dl.doubtnut.com/l/_5nmmEDJpxVfw
https://dl.doubtnut.com/l/_iuf0UdJFvoSF


247. Arrange Propane, Ethanamine, and Ethyl alcohol in increasing order

of dipole moment.

Watch Video Solution

248. Write the reaction when phenol reacts with arenediazonium chloride

in presence of a base.

Watch Video Solution

249. Consider the pairs of ethers A to F shown below. To The right of each

pairs is a description of reaction conditions to be applied to each. One

compound of the pair will react more rapidly than the other. Find out

number of reactions in which first ether more rapidly cleaved than

second.

https://dl.doubtnut.com/l/_iuf0UdJFvoSF
https://dl.doubtnut.com/l/_noKp2jnGECu0
https://dl.doubtnut.com/l/_CliUFEw6o94o





https://dl.doubtnut.com/l/_CliUFEw6o94o


Watch Video Solution

250. 


Find out number of reagents that can be used for above conversion, from

following.

Watch Video Solution

R − CH2 − Oh
?

−−→ R − CH2 − Cl

HCl/ZnCl2, PCl3, PCl5, POCl3, SOCl2, NaCl, TsCl

251. State the reaction when aniline reacts with acetic anhydride in

presence of pyridine.

https://dl.doubtnut.com/l/_CliUFEw6o94o
https://dl.doubtnut.com/l/_Qw63FfpjRQTK
https://dl.doubtnut.com/l/_TSeE1P32C4eC


Watch Video Solution

252. How many moles of Hi reacts with glycerol to give 2 iodopropane?

Watch Video Solution

253. Convert Aniline to Phenylazo-2-napthol.

Watch Video Solution

254. How the following transformation can be carried out (in not more

than six steps)?

"Ethyl alcohol to vinyl acetate".

Watch Video Solution

https://dl.doubtnut.com/l/_TSeE1P32C4eC
https://dl.doubtnut.com/l/_n6MJPwIFrSf9
https://dl.doubtnut.com/l/_NQ4skPTvqrQf
https://dl.doubtnut.com/l/_Q9KaRr25czrj


255. Write the structure of the major organic product expected from each

of the following reactions:

Watch Video Solution

256. Write the structure of the major organic product expected from each

of the following reactions:

Watch Video Solution

CH3CH2CHCI2
aq .KOH
−−−−→

257. Indicate steps which would convert :phenol to acetophenone

Watch Video Solution

https://dl.doubtnut.com/l/_fOGsXcNWVV0S
https://dl.doubtnut.com/l/_cUxh4WqQzf5R
https://dl.doubtnut.com/l/_0RHoqCbanCCJ


258. Indicate steps which would convert :acetic acid to tert-butyl alcohol

Watch Video Solution

259. Convert Acetic acid to Ethylene.

Watch Video Solution

260. Compound (A)  is insoluble in  solution but

dissolves in sodium hydroxide and gives a characteristic violet colour with

aqueous ferric chloride.

When treated with bromine water (A) forms a compound (B) of molecular




Give structural formulae of (A) and (B)

Watch Video Solution

C7H8O NaHCO3

C7H5OBr3.

https://dl.doubtnut.com/l/_2SCTFXY42guv
https://dl.doubtnut.com/l/_2aSrpVeOtucx
https://dl.doubtnut.com/l/_3vCyJw6Qhgni


261. Ar, organic compound (A),  is insoluble in aqueous 

but souble in NaOH. (A), on treatment with bromine water rapidly forms

compound (B), . Give structures of (A) and (B) . What will be

(A), if , it does not dissolve in NaOH solution but shows reactions given

above?

Watch Video Solution

C7H8O NaHCO3

C7H5OBr3

262. Why di-tert-butyl ether cannot be obtained by Williamson's synthesis

?

Watch Video Solution

263. 2,2 Dimethyl oxirane can be cleaved by acid . Write mechanism.

Watch Video Solution

(H + )

https://dl.doubtnut.com/l/_d480HnuQ4lOu
https://dl.doubtnut.com/l/_AGkNvXv4XNln
https://dl.doubtnut.com/l/_Z3zEgQopzKnY


264. What is Rosenmund's reaction? What is the purpose of adding

 to it?

Watch Video Solution

BaSO4

265. 


possible product (s) is /are

A. 

B. 

https://dl.doubtnut.com/l/_sbmOySIJLJSI
https://dl.doubtnut.com/l/_5VQsHxhHqJIi


C. 

D. 

Answer: A::C

Watch Video Solution

266. Distinguish between Secondary and Tertiary amines.

Watch Video Solution

267. Convert p-Nitroaniline to 3, 4, 5-Tribromonitrobenzene.

Watch Video Solution

https://dl.doubtnut.com/l/_5VQsHxhHqJIi
https://dl.doubtnut.com/l/_n2pluBu9IzQk
https://dl.doubtnut.com/l/_W5jDBczgW54L


268. When phenol is reacted with  and NaOH followed by

acidification, salicylaldehyde is obtained. Which of the following species

is/are involved in the above mentioned reaction as intermediate(s)?

A. 

B. 

C. 

D. 

Answer: A::D

CHCI3

https://dl.doubtnut.com/l/_x79HlqVNx8QD


Watch Video Solution

269. Under what conditions (acidic/basic), the coupling reaction of

aryldiazonium chloride with aniline is carried out?

Watch Video Solution

270. Convert n-propanol to isopropanol to n-propanol.

Watch Video Solution

271. State how chloral is obtained from ethyl alcohol.

Watch Video Solution

272. How will you prepare pentan-1-ol from 1-bromobutane?

Watch Video Solution

https://dl.doubtnut.com/l/_x79HlqVNx8QD
https://dl.doubtnut.com/l/_dLf6yoehJEAS
https://dl.doubtnut.com/l/_16Le4bHa8l3V
https://dl.doubtnut.com/l/_EV8q1rPZM2Kh
https://dl.doubtnut.com/l/_k87gxypRAXnD


273. How will you obtain buta-1, 3-diene from ethanol?

Watch Video Solution

274. Humans, monkeys and guinea pigs do not have the enzymes

necessary for the biosynthesis of vitamin C, so they

 Must include

the vitamin in their diets. It is also required for the synthesis of collagen,

https://dl.doubtnut.com/l/_k87gxypRAXnD
https://dl.doubtnut.com/l/_yFLwDrLnHNgm
https://dl.doubtnut.com/l/_Wt9iy6CIiyEU


which is the structural protein of skin, tendons, connective tissue and

bone.

Although vitamin C does not have a carboxylic acid group, it is an acidic

compound. Acidic character is shown by

A.  group

B. 

C. 

D. all of these

Answer: C

Watch Video Solution

−CH2OH

275. Vanillin  is isolated from vanilla beans. It gives intense

blue colour with neutral  and also gives+ve Tollen's test. It reacts

A[C8H8O3]

FeCl3

https://dl.doubtnut.com/l/_Wt9iy6CIiyEU
https://dl.doubtnut.com/l/_EXpevDUgycGa


with conc. HBr to give a compound B. One mole of vanillin gave one mole

of AgI with Zeise's active methoxy estimations. Compound B on oxidation

with Tollen's reagent gave a catechol derivative. Compound B can be

prepared from catechol by Gattermann Koch reaction.

Vanillin structure should be

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_EXpevDUgycGa


276. Vanillin  is isolated from vanilla beans. It gives intense

blue colour with neutral  and also gives+ve Tollen's test. It reacts

with conc. HBr to give a compound B. One mole of vanillin gave one mole

of AgI with Zeise's active methoxy estimations. Compound B on oxidation

with Tollen's reagent gave a catechol derivative. Compound B can be

prepared from catechol by Gattermann Koch reaction.

Compound B on heating with zinc dust will give

A. 

B. 

C. 

A[C8H8O3]

FeCl3

https://dl.doubtnut.com/l/_EXpevDUgycGa
https://dl.doubtnut.com/l/_amAkOE3YeM6m


D. 

Answer: C

Watch Video Solution

277. Name the compound formed on treating glycerol with excess of HI.

Watch Video Solution

278. Give chemical equation for:
 Oxidation of propan-1-ol with alkaline

 solution.

Watch Video Solution

KMnO4

https://dl.doubtnut.com/l/_amAkOE3YeM6m
https://dl.doubtnut.com/l/_1yn6OKBSQGEj
https://dl.doubtnut.com/l/_UemyyxP6mWOm


279. Match Column -1 with Column-11

Watch Video Solution

https://dl.doubtnut.com/l/_FG6C5QWrUoDs


280. 


What is the maximum value of x?

Watch Video Solution

https://dl.doubtnut.com/l/_FG6C5QWrUoDs
https://dl.doubtnut.com/l/_MrktXllaOESZ


281. 


What is the ratio of moles of formic acid obtained in reaction (a) and

reaction (b)?

Watch Video Solution

https://dl.doubtnut.com/l/_c6ednYRiIHTz


282. 


The degree of unsaturation of the final products is

Watch Video Solution

283. State the reaction:
Methoxybenzene reacts with .

Watch Video Solution

HI

284. 0.1 mole of a hydroxyl compound reacts with 62.5 g 

(mol.wt.208.5) Determine the number of -OH groups

Watch Video Solution

PCl5

https://dl.doubtnut.com/l/_1AeYrVGBCbAa
https://dl.doubtnut.com/l/_piiyzEZDpGyd
https://dl.doubtnut.com/l/_RHQEVh8Uia3A


285. Identify (X) and (Y) in the following reaction sequence.

Watch Video Solution

286. Compound X (Molecular formula, ) does not react appreciably

with Lucas reagent at room temperature but gives a precipitate with

ammoniacal silver nitrate. With excess of MeMgBr,0.42g of X gives 224 Ml

of  at STP. Treatment of X with  in presence of Pt catalyst followed

by boiling with excess Hi,gives n-pentane. Suggest structure of X and

write the equations involved.

Watch Video Solution

C5H8O

CH4 H2

https://dl.doubtnut.com/l/_ZqPNkYugfBiB
https://dl.doubtnut.com/l/_XttF01ec8E1f


287. Compound (A)  is insoluble in  solution but

dissolves in sodium hydroxide and gives a characteristic violet colour with

aqueous ferric chloride.

When treated with bromine water (A) forms a compound (B) of molecular




Give structural formulae of (A) and (B)

Watch Video Solution

C7H8O NaHCO3

C7H5OBr3.

288. When t-butanol and n-butanol are separately treated with a few

drops of dilute  in one case only, the purple colour disappears

and a brown precipitate is formed. Which of the two alcohols gives the

above reaction and what is the brown precipitate?

Watch Video Solution

KMnO4

289. An optically active alcohol  absorbs two mole of

hydrogen molecule per mole of A upon catalytic hydrogenation and gives

A(C6H10O)

https://dl.doubtnut.com/l/_ugMeqezaxMi3
https://dl.doubtnut.com/l/_yPT67Iil2517
https://dl.doubtnut.com/l/_lCaU62VBK9l2


a product B.The compound B is resistant to oxidation by  and does

not show any optical activity . Deduce the structure of A and B.

Watch Video Solution

CrO3

290. Give reason for the following in one or two sentences. "Acid catalysed

dehydration of t-butanol is faster than that of n-butanol".

Watch Video Solution

291. Convert, 

Watch Video Solution

https://dl.doubtnut.com/l/_lCaU62VBK9l2
https://dl.doubtnut.com/l/_23XhPHIaBn6i
https://dl.doubtnut.com/l/_bwVmb6qwNWat


292. An organic liquid (A) Having pleasant odour is hydrolysed to an acid

(B) and alcohol (C ) .The acid (B) is ethanoic acid (C ) on treating with HCI

gives (D) ,oxidation of ( C) yield benzoic acid. What are (A),(C ) and (D)?

Watch Video Solution

293. Identify (X) and (Y) in the following reaction sequence.

Watch Video Solution

294. This question has Statement I and Statement II. Of the four choices

given after the Statements, choose the one that best describes the two

https://dl.doubtnut.com/l/_bwVmb6qwNWat
https://dl.doubtnut.com/l/_9QanIpZdsw7l
https://dl.doubtnut.com/l/_EwItHmoIL9Nh
https://dl.doubtnut.com/l/_2JqIGeAAJ5ay


Statements 

Statement -1: The boiling point of ethanol is much higher than that of

diethyl ether.

Statement-II:In ethanol, the molecules are associated due to

intermolecular hydrogen bonding, whereas in diethyl ether it is not

possible.

A. Statement-I is true, Statement-II is true, Statement-II is a correct

explanation of Statement-I

B. Statement -I is true, Statement-II is true, Statement-II is not a

correct explanation of Statement-I.

C. Statement-I is true, Statement -II is false.

D. Statement -1 is false, Statement-II is true.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_2JqIGeAAJ5ay


295. This question has Statement I and Statement II. Of the four choices

given after the Statements, choose the one that best describes the two

Statements 

Statement -1:The acidity of alcohols follows the order . 


Statement-II:The +I effect of alkyl groups  favors the

dissociation of -O-H group.

A. Statement-I is true, Statement-II is true, Statement-II is a correct

explanation of Statement-I

B. Statement -I is true, Statement-II is true, Statement-II is not a

correct explanation of Statement-I.

C. Statement-I is true, Statement -II is false.

D. Statement -1 is false, Statement-II is true.

Answer: C

Watch Video Solution

1∘ > 2∘ > 3∘

(3∘ > 2∘ > 1∘ )

https://dl.doubtnut.com/l/_C3HzDzpzrWII
https://dl.doubtnut.com/l/_i0VJEWFS4dIh


296. Give Chemical equation for:
Reaction of Bromine in  with phenol.

Watch Video Solution

CS2

297. Give Chemical Equation when:
 Phenol reacts in presence of Dil.

.

Watch Video Solution

HNO3

298. Give Chemical Equation for:
 Treating phenol with chloroform in

presence of aqueous 

Watch Video Solution

NaOH

299. This question has Statement I and Statement II. Of the four choices

given after the Statements, choose the one that best describes the two

Statements 

Statement -1: Glycerol does not react with HI 

https://dl.doubtnut.com/l/_i0VJEWFS4dIh
https://dl.doubtnut.com/l/_g0FwL0M6rzPh
https://dl.doubtnut.com/l/_bBQXcl8MKIjF
https://dl.doubtnut.com/l/_TkQONU0JLxb5


Statement-II: 2-iodopropane can be produced by treatment of glycerol

with excess HI

A. Statement-I is true, Statement-II is true, Statement-II is a correct

explanation of Statement-I

B. Statement -I is true, Statement-II is true, Statement-II is not a

correct explanation of Statement-I.

C. Statement-I is true, Statement -II is false.

D. Statement -1 is false, Statement-II is true.

Answer: D

Watch Video Solution

300. Convert: Propene to propan-2-ol

Watch Video Solution

https://dl.doubtnut.com/l/_TkQONU0JLxb5
https://dl.doubtnut.com/l/_uPB7baE4szzF


301. This question has Statement I and Statement II. Of the four choices

given after the Statements, choose the one that best describes the two

Statements 

Statement -1:  is a nucleophile 


Statement-II:  forms sodium methoxide on treatment with Na

A. Statement-I is true, Statement-II is true, Statement-II is a correct

explanation of Statement-I

B. Statement -I is true, Statement-II is true, Statement-II is not a

correct explanation of Statement-I.

C. Statement-I is true, Statement -II is false.

D. Statement -1 is false, Statement-II is true.

Answer: B

Watch Video Solution

CH3OH

CH3OH

https://dl.doubtnut.com/l/_10fEy1081ohC


302. This question has Statement I and Statement II. Of the four choices

given after the Statements, choose the one that best describes the two

Statements 

Statement -1: Di-tert butyl ether cannot be prepared by Williams's ether

synthesis.

Statement-II:Tert, butyl bromide on treatment with sodium tert. butoxide

preferentially undergoes elimination to from isobutylene and tert. butyl

alcohol.

A. Statement-I is true, Statement-II is true, Statement-II is a correct

explanation of Statement-I

B. Statement -I is true, Statement-II is true, Statement-II is not a

correct explanation of Statement-I.

C. Statement-I is true, Statement -II is false.

D. Statement -1 is false, Statement-II is true.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_qoEOkgdRkdZc


303. This question has Statement I and Statement II. Of the four choices

given after the Statements, choose the one that best describes the two

Statements 

Statement -1:Solubility of n-alcohol in water decreases with increase in

molecular weight. 

Statement-II:The relative proportion of the hydrocarbon part in alcohols

increases with increasing molecular weight which permits enhanced

hydrogen bonding with water.

A. Statement-I is true, Statement-II is true, Statement-II is a correct

explanation of Statement-I

B. Statement -I is true, Statement-II is true, Statement-II is not a

correct explanation of Statement-I.

C. Statement-I is true, Statement -II is false.

D. Statement -1 is false, Statement-II is true.

Answer: C

https://dl.doubtnut.com/l/_qoEOkgdRkdZc
https://dl.doubtnut.com/l/_AR8uRSIDqOdQ


Watch Video Solution

304. This question has Statement I and Statement II. Of the four choices

given after the Statements, choose the one that best describes the two

Statements 

Statement -1:Primary and tertiary alcohols can be distinguished by using

 


Statement-II:  alcohol are not oxidised by Jones reagent.

A. Statement-I is true, Statement-II is true, Statement-II is a correct

explanation of Statement-I

B. Statement -I is true, Statement-II is true, Statement-II is not a

correct explanation of Statement-I.

C. Statement-I is true, Statement -II is false.

D. Statement -1 is false, Statement-II is true.

Answer: A

Watch Video Solution

CrO3,H2SO4

3∘

https://dl.doubtnut.com/l/_AR8uRSIDqOdQ
https://dl.doubtnut.com/l/_CJwiXQr673hV


Watch Video Solution

305. This question has Statement I and Statement II. Of the four choices

given after the Statements, choose the one that best describes the two

Statements 

Statement -1:Phenol on oxidation with fuming  gives picric acid. 


Statement-II:Pure phenols are colourless but turn pink due to oxidation

to benzoquinone.

A. Statement-I is true, Statement-II is true, Statement-II is a correct

explanation of Statement-I

B. Statement -I is true, Statement-II is true, Statement-II is not a

correct explanation of Statement-I.

C. Statement-I is true, Statement -II is false.

D. Statement -1 is false, Statement-II is true.

Answer: B

Watch Video Solution

HNO3

https://dl.doubtnut.com/l/_CJwiXQr673hV
https://dl.doubtnut.com/l/_8QDWLgxAeiq8


306. This question has Statement I and Statement II. Of the four choices

given after the Statements, choose the one that best describes the two

Statements 

Statement -1:Phenol is used in the manufacture of Bakelite. 

Statement-II:Bakelite is heat resistant thermosetting plastic used for

making electrical switches and switch board.

A. Statement-I is true, Statement-II is true, Statement-II is a correct

explanation of Statement-I

B. Statement -I is true, Statement-II is true, Statement-II is not a

correct explanation of Statement-I.

C. Statement-I is true, Statement -II is false.

D. Statement -1 is false, Statement-II is true.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_8QDWLgxAeiq8
https://dl.doubtnut.com/l/_9EpCNQHVc73F
https://dl.doubtnut.com/l/_LMiv8Zf2OsQw


307. This question has Statement I and Statement II. Of the four choices

given after the Statements, choose the one that best describes the two

Statements 

Statement -1:Dichloro carbene is active intermediate in Reimer Tiemann

reaction. 

Statement-II:Dichlorocarbene is an electrophile because its octet is not

complete.

A. Statement-I is true, Statement-II is true, Statement-II is a correct

explanation of Statement-I

B. Statement -I is true, Statement-II is true, Statement-II is not a

correct explanation of Statement-I.

C. Statement-I is true, Statement -II is false.

D. Statement -1 is false, Statement-II is true.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_LMiv8Zf2OsQw


308. Convert: Benzyl Chloride to Benzyl alcohol.

Watch Video Solution

309. This question has Statement I and Statement II. Of the four choices

given after the Statements, choose the one that best describes the two

Statements 

Statement -1: Ethers are slightly soluble in water but highly soluble in

conc. 


Statement-II:The oxygen of ether forms oxonium ion with acids but not

with .

A. Statement-I is true, Statement-II is true, Statement-II is a correct

explanation of Statement-I

B. Statement -I is true, Statement-II is true, Statement-II is not a

correct explanation of Statement-I.

C. Statement-I is true, Statement -II is false.

H2SO4

H2O

https://dl.doubtnut.com/l/_7Al9TUrjeuAA
https://dl.doubtnut.com/l/_EqqagrFHsKFK


D. Statement -1 is false, Statement-II is true.

Answer: A

Watch Video Solution

310. This question has Statement I and Statement II. Of the four choices

given after the Statements, choose the one that best describes the two

Statements 

Statement -1: When phenyl acetate is heated with Lewis acid ortho and

para hydroxy acetophenone are obtained.

Statement-II:Phenyl acetate undergoes rearrangement (like Fries

migration)when heated with Lewis acid.

A. Statement-I is true, Statement-II is true, Statement-II is a correct

explanation of Statement-I

B. Statement -I is true, Statement-II is true, Statement-II is not a

correct explanation of Statement-I.

https://dl.doubtnut.com/l/_EqqagrFHsKFK
https://dl.doubtnut.com/l/_TR01Q9vpWiDM


C. Statement-I is true, Statement -II is false.

D. Statement -1 is false, Statement-II is true.

Answer: A

Watch Video Solution

311. This question has Statement I and Statement II. Of the four choices

given after the Statements, choose the one that best describes the two

Statements 

Statement -1: Anisole is not obtained when  reacts with

bromobenzene. 

Statement-II:Aryl halides are less reactive towards nucleophilic

substitution.

A. Statement-I is true, Statement-II is true, Statement-II is a correct

explanation of Statement-I

MeO−

https://dl.doubtnut.com/l/_TR01Q9vpWiDM
https://dl.doubtnut.com/l/_oNKm50mMPoZy


B. Statement -I is true, Statement-II is true, Statement-II is not a

correct explanation of Statement-I.

C. Statement-I is true, Statement -II is false.

D. Statement -1 is false, Statement-II is true.

Answer: A

Watch Video Solution

312. Classify the following as primary and Secondary alcohols

A. 

B. 

C. 

D. 

H2C = CH − CH2OH

CH3 − CH2 − CH2 − OH

https://dl.doubtnut.com/l/_oNKm50mMPoZy
https://dl.doubtnut.com/l/_NdNyo6ZevBK2


Watch Video Solution

313. Classify the following as Tertiary alcohols

A. 

B. 

C. 

D. 

Watch Video Solution

H2C = CH − CH2OH

CH3 − CH2 − CH2 − OH

314. Convert: Ethylmagnesium Chloride to Propan-1-ol.

Watch Video Solution

https://dl.doubtnut.com/l/_NdNyo6ZevBK2
https://dl.doubtnut.com/l/_j9mIYVzLYcIT
https://dl.doubtnut.com/l/_ANiS1LrPj82b


315. Find the major product of reaction

Watch Video Solution

316. Convert: Methylmagnesium bromide to 2-Methylpropan-2-ol.

Watch Video Solution

317. Find the major product of reaction

https://dl.doubtnut.com/l/_ANiS1LrPj82b
https://dl.doubtnut.com/l/_WKhIL7ELRHXV
https://dl.doubtnut.com/l/_y4cD3GCksOuH
https://dl.doubtnut.com/l/_EhXwtvACDvV3


Watch Video Solution

318. Find the major product of reaction

Watch Video Solution

319. Find the major product of reaction

Watch Video Solution

https://dl.doubtnut.com/l/_EhXwtvACDvV3
https://dl.doubtnut.com/l/_hwJUvo0mjiq3
https://dl.doubtnut.com/l/_yJKEdoiS3o6Z
https://dl.doubtnut.com/l/_yUys4j6KQU1h


320. Using compounds of not more than four carbon atoms as your only

starting material, outline a synthesis

Watch Video Solution

321. Show how are alcohols prepared by the reaction of a suitable

Grignard reagent on Methanal ?

https://dl.doubtnut.com/l/_yUys4j6KQU1h
https://dl.doubtnut.com/l/_4jmW1IzkYuXi


Watch Video Solution

322. Show how are alcohols prepared by the reaction of a suitable

Grignard reagent on Methanal ?

https://dl.doubtnut.com/l/_4jmW1IzkYuXi
https://dl.doubtnut.com/l/_QuVgojQVQ7AV


Watch Video Solution

323. Write structures of the products of the reaction

Watch Video Solution

CH3CH = CH2
H2 ∅H +

−−−−→

https://dl.doubtnut.com/l/_QuVgojQVQ7AV
https://dl.doubtnut.com/l/_alEqDCotXrkl


324. Write structures of the products of the reaction

Watch Video Solution

325. Write structures of the products of the reaction

Watch Video Solution

326. Arrange the following in the order of increasing boiling points giving

reasons:

https://dl.doubtnut.com/l/_Oc4B5MnL2IbX
https://dl.doubtnut.com/l/_ubTcqX2heJPl
https://dl.doubtnut.com/l/_V6JnN3bOCERw


Watch Video Solution

327. Why 2-chloroethanol is more acidic than ethanol ?

Watch Video Solution

328. 0.436 g of acetyl derivative of a polyhydric alcohol(molecular

mass=92) requires 0.336 g of KOH for hydrolysis. Calculate the number of

hydroxyl groups in the alcohol.

Watch Video Solution

329. State the reaction:
Benzyl ethyl ether reacts with .

Watch Video Solution

HI

https://dl.doubtnut.com/l/_V6JnN3bOCERw
https://dl.doubtnut.com/l/_0koNFDpVj8Em
https://dl.doubtnut.com/l/_I0upQN9V00Bb
https://dl.doubtnut.com/l/_wHHYouINm9jU


330. Why is sulfuric acid not used during the reaction of alcohols with 

?

Watch Video Solution

KI

331. Write the isomers of compounds having molecular formula .

Watch Video Solution

C4H9Br

332. Convert: Butan-1-ol to 1-iodobutane.

Watch Video Solution

333. Give the major product formed when each alcohol in the presence of


H2SO4orH3PO4

https://dl.doubtnut.com/l/_0MPbHJGFj0Ye
https://dl.doubtnut.com/l/_QBanYps6TBAk
https://dl.doubtnut.com/l/_daxJQeFGsYcX
https://dl.doubtnut.com/l/_xaBkVLxgpxQ6


Watch Video Solution

334. Give the major product formed when each alcohol in the presence of




Watch Video Solution

H2SO4orH3PO4

https://dl.doubtnut.com/l/_xaBkVLxgpxQ6
https://dl.doubtnut.com/l/_ZcbF4gG7CQGL


335. Give the major product formed when each alcohol in the presence of




Watch Video Solution

H2SO4orH3PO4

336. Give the major product formed when each alcohol in the presence of


H2SO4orH3PO4

https://dl.doubtnut.com/l/_ZcbF4gG7CQGL
https://dl.doubtnut.com/l/_NCW0B0Ftd7an
https://dl.doubtnut.com/l/_nPOcQZLpHlPy


Watch Video Solution

337. Predict the major product of acid catalysed dehydration of 

(a) 1-methylcyclohexanol 

(b) butan -2- ol

Watch Video Solution

https://dl.doubtnut.com/l/_nPOcQZLpHlPy
https://dl.doubtnut.com/l/_7dAZ4hUM9WzY


338. Propose a mechanism for the following reaction.

Watch Video Solution

339. Classify alcohols as primary and secondary alcohols and write the

structures of their first oxidation products:

View Text Solution

https://dl.doubtnut.com/l/_ia8rViHwCKY7
https://dl.doubtnut.com/l/_nFwKbWXJLDr6


340. Classify alcohols as primary and secondary alcohols and write the

structures of their first oxidation products:

View Text Solution

341. Starting with bromobenzene and any other needed reagents, outline

a synthesis of the following ketone.

View Text Solution

342. Draw the organic products in each reaction:

View Text Solution

https://dl.doubtnut.com/l/_04wkIYP6kMR2
https://dl.doubtnut.com/l/_ZNLhObjiYI2q
https://dl.doubtnut.com/l/_pq3yDwvLCt77


343. Draw the organic products in each reaction:

View Text Solution

344. Draw the organic products in each reaction:

View Text Solution

345. Draw the organic products in each reaction:

View Text Solution

346. Draw the organic products in each reaction:

https://dl.doubtnut.com/l/_xIWnFiE2whgz
https://dl.doubtnut.com/l/_EEtpCTND6iPc
https://dl.doubtnut.com/l/_fpF2rSA22CSW
https://dl.doubtnut.com/l/_ewl4RLCc1lFB


View Text Solution

347. Phenol is a stronger acid than alcohol. Explain

Watch Video Solution

348. How would you obtain: Phenol  Picric acid

Watch Video Solution

→

349. Convert:Phenol  Benzophenone

Watch Video Solution

→

350. Explain p-nitrophenol boils at higher temperature than o-

nitrophenol?

Watch Video Solution

https://dl.doubtnut.com/l/_ewl4RLCc1lFB
https://dl.doubtnut.com/l/_sfPskJhaU9tv
https://dl.doubtnut.com/l/_PNMmQSWBisOz
https://dl.doubtnut.com/l/_YTICXxIxRJgt
https://dl.doubtnut.com/l/_tVY9meMj8wr2


351. Why O-nitro phenol is less soluble than m or p nitro phenol?

Watch Video Solution

352. What are the products (A),(B),(C),(D) and ( E) ?

View Text Solution

353. How can you prepare 2-acetoxybenzoic acid and phenyl salicylate

from salicylic acid?

Watch Video Solution

354. Give IUPAC name for following heterocyclic ethers.

View Text Solution

https://dl.doubtnut.com/l/_tVY9meMj8wr2
https://dl.doubtnut.com/l/_eHAYFsYyNCGS
https://dl.doubtnut.com/l/_zZrxD4F3AXoc
https://dl.doubtnut.com/l/_phUhrC9fOsjV
https://dl.doubtnut.com/l/_LbZyaW8QJQua


View Text Solution

355. Give IUPAC name for following heterocyclic ethers.

View Text Solution

356. Give IUPAC name for following heterocyclic ethers.

View Text Solution

357. Give IUPAC name for following heterocyclic ethers.

View Text Solution

https://dl.doubtnut.com/l/_LbZyaW8QJQua
https://dl.doubtnut.com/l/_vOnOam2lSRRD
https://dl.doubtnut.com/l/_WmFEy5AuFMpt
https://dl.doubtnut.com/l/_4twHlTIMvgDn


358. Write the reactions of Williamson of 2-ethoxy-3-methylpentane

starting from ethanol and 3-methylpentan-2-ol.

Watch Video Solution

359. Explain the following observations:

View Text Solution

360. Identify the product A and B giving proper explanations:

View Text Solution

361. Convert: Ethane to Bromoethane

Watch Video Solution

https://dl.doubtnut.com/l/_LdCq5nIbdlmX
https://dl.doubtnut.com/l/_yAn7rUgrePFE
https://dl.doubtnut.com/l/_2OLwcJr2FVUK
https://dl.doubtnut.com/l/_4d6JpDViFIwv


362. Convert: Propene to 1-nitropropane

Watch Video Solution

363. Convert: Toluene to Benzyl alcohol

Watch Video Solution

364. Consider the following reaction sequence

A. ( R)-2-chlorobutane

B. (S) -2-chlorobutane

C. Both: (R ) and (S) -2 chlorobutane

D. none of these

https://dl.doubtnut.com/l/_4d6JpDViFIwv
https://dl.doubtnut.com/l/_XSilzpgyUs1p
https://dl.doubtnut.com/l/_ZmNgqXmUYaZP
https://dl.doubtnut.com/l/_IDwU6GfPHoD1


Answer: A

Watch Video Solution

365. Convert: Propene to propyne.

Watch Video Solution

366. Convert: Ethanol to ethyl fluoride.

Watch Video Solution

367. Phenol is prepared industrially by heating chlorobenzene with

aqueous NaOH at  under high pressure.

 The reaction involves

A. SN1 mechanism

B. ArSN2 mechanism

360∘C

C6H5Cl + NaOH
.360 ∘C ,pressure

r
2 .H3O+

areC6H5OH

https://dl.doubtnut.com/l/_IDwU6GfPHoD1
https://dl.doubtnut.com/l/_HneH2K1tEpBm
https://dl.doubtnut.com/l/_SqQIVd0uUMUA
https://dl.doubtnut.com/l/_8RkKnxvNnkGt


C. ArS E2 mechanism

D. addition mechanism

Answer: B

Watch Video Solution

368. Consider the following reaction 




The major product formed is

A. 

B. 

https://dl.doubtnut.com/l/_8RkKnxvNnkGt
https://dl.doubtnut.com/l/_VW524Azk5E5x


C. 

D. 

Answer: C

Watch Video Solution

369. Salicylic acid is treated with excess bromine water. The product

formed is

A. 

https://dl.doubtnut.com/l/_VW524Azk5E5x
https://dl.doubtnut.com/l/_cNkG9wibggIM


B. 

C. 

D. 

Answer: A

Watch Video Solution

370. Consider the following sequence of reaction

https://dl.doubtnut.com/l/_cNkG9wibggIM
https://dl.doubtnut.com/l/_SEMCvlJD0AW9


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_SEMCvlJD0AW9


371. Which of the following products may be obtained in reaction?

A. 

B. 

C. 

D. All of these

Answer: D

Watch Video Solution

CH3 − CH = CH − O − H ⇔ CH3 − CH2 − CHO

372. Convert: Bromomethane to Propanone.

Watch Video Solution

https://dl.doubtnut.com/l/_V2Wfa8y7egXA
https://dl.doubtnut.com/l/_QKaDgSXuk9el


373. Convert: But-1-ene to But-2-ene.

Watch Video Solution

374. Convert: 1-Chlorobutane to n-octane.

Watch Video Solution

375. Which of the following reaction would not yield

methoxybenzene(anisole)?

A. 

B. 

C. 

D. 

Answer: D

W t h Vid S l ti

PhOH + CN2N2 →

PhONa + CH3I →

PhOH + (CH3)2SO4
NaOH
−−−→

PhOH + CH3MgI →

https://dl.doubtnut.com/l/_ICFHSmCGblbl
https://dl.doubtnut.com/l/_gfAqC5Prfb09
https://dl.doubtnut.com/l/_CxthfbZ44Jdz


Watch Video Solution

376. Convert: Benzene to Biphenyl.

Watch Video Solution

377. Convert: Propan-1-ol to 1-Chloropropane.

Watch Video Solution

378. Which of the following compounds would not react with Lucas

reagent at room temperature?

A. 

B. 

C. 

D. 

H2C = CHCH2OH

C6H5CH2OH

CH3CH2CH2OH

(CH3)3COH

https://dl.doubtnut.com/l/_CxthfbZ44Jdz
https://dl.doubtnut.com/l/_yeOXahDoUJAz
https://dl.doubtnut.com/l/_9BsbN429Rstt
https://dl.doubtnut.com/l/_hetCKaGxBRh9


Answer: C

Watch Video Solution

379. Name the organic compound formed when a mixture of sodium

methoxide and ethyl iodide is distilled and propose a name to this

reaction.

Watch Video Solution

380. Reaction of phenol with chloroform in presence of dilute sodium

hydroxide finally introduces which one of the following functional group?

A. 

B. 

C. 

D. 

−CH2Cl

−COOH

−CHCl

−CHO

https://dl.doubtnut.com/l/_hetCKaGxBRh9
https://dl.doubtnut.com/l/_4Mf88jPuMQ7o
https://dl.doubtnut.com/l/_dVsQnkEvgzPj


Answer: D

Watch Video Solution

381. Write a test to detect the presence of double bond in a molecule.

Watch Video Solution

382. Convert: Anisole to 4-Methoxyacetophenone

Watch Video Solution

383. Among the following sets of reactants which one produces anisole?

A. 

B. 

C. 

CH3CHO, RMgX

C6H5OH, NaOH, CH3l

C6H5OH, neutralFeCl3

https://dl.doubtnut.com/l/_dVsQnkEvgzPj
https://dl.doubtnut.com/l/_h85zcNF4iUob
https://dl.doubtnut.com/l/_OEUszgyJ4dak
https://dl.doubtnut.com/l/_iAiiVl0tUoOo


D. 

Answer: B

Watch Video Solution

C6H5 − CH3 :CH3COOl, AlCl3

384. When  reacts with one mole of Hl,

one of the products formed is

A. ethane

B. ethanol

C. iodoethane

D. ethanal

Answer: D

Watch Video Solution

CH2 = CH − O − CH2 − CH3

https://dl.doubtnut.com/l/_iAiiVl0tUoOo
https://dl.doubtnut.com/l/_ve1v5OF1bTOW


385.  of a monohydric alcohol when added to methylmagnesium

iodide in ether liberates at STP  of methane. With PCC,the same

alcohol forms a carbonyl compound that answers silver mirror test. The

monohydric alcohol is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

0.44g

112cm3

(CH3)3C − CH2OH

(CH3)2CH − CH2OH

https://dl.doubtnut.com/l/_WY8q4x70cLyq


386. 


The IUPAC name of 'B' is

A. 3-methylbutan-2-ol

B. 2-methylbutan-2-ol

C. 2-methylbutan-3-ol

D. pentan-2-ol

Answer: A

Watch Video Solution

387. 


(major product).Y is

https://dl.doubtnut.com/l/_iNgSBHrAH0ZR
https://dl.doubtnut.com/l/_vYFRcG3Httwc


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

388. Iodoform reaction is answered by all,except

A. 

B. 

C. 

D. 

CH3CHO

CH3CH2 − OH

CH3 − CH2 − CH2OH

https://dl.doubtnut.com/l/_vYFRcG3Httwc
https://dl.doubtnut.com/l/_KqXA6tXhJI0i


Answer: D

Watch Video Solution

389. Which of the following alcohols has highest solubility in water ?

A. Tertiary butyl alcohol

B. Secondary butyl alcohol

C. Ethylene glycol

D. Glycerol

Answer: D

Watch Video Solution

390. In which of the following reactions of alcohol there is no cleavage of

C-O bond?

https://dl.doubtnut.com/l/_KqXA6tXhJI0i
https://dl.doubtnut.com/l/_6ZbGiG55Sbcd
https://dl.doubtnut.com/l/_aW92bN4m7Y2t


A. Dehydration reaction of alcohol

B. Oxidation reaction of alcohol

C. Reduction reaction of alcohol

D. Reduction of alcohol with phosphorus tribromide

Answer: B

Watch Video Solution

391. Write the possible isomeric alcohols of: 

Watch Video Solution

C4H10O

392. Reimer -tiemann reaction Involves

A. carbonium ion intermediate

B. carbene Intermediate

C. carbanion intermediate

https://dl.doubtnut.com/l/_aW92bN4m7Y2t
https://dl.doubtnut.com/l/_yP4LBYVCw95L
https://dl.doubtnut.com/l/_f0oxISaZenLu


D. free radical intermediate

Answer: B

Watch Video Solution

393. When ethylene glycol is heated with acidified potassium

permanganate, the main organic compound obtained is

A. oxalic acid

B. glyoxal

C. formic acid

D. acetaldehyde

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_f0oxISaZenLu
https://dl.doubtnut.com/l/_RP6p3D5CwbTb


394. The alcohol obtained by the hydrolysis of oils and fats is

A. glycol

B. glycerol

C. propanol

D. pentanol

Answer: B

Watch Video Solution

395. An organic acid without a carboxylic acid group is

A. picric acid

B. oxalic acid

C. vinegar

D. ascorbic acid

https://dl.doubtnut.com/l/_P2a7gPxTXeGi
https://dl.doubtnut.com/l/_gqifDK1HcAmv


Answer: A

Watch Video Solution

396. The order of melting point of ortho, para , meta nitrophenol is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

o > m > p

p > m > o

m > p > o

p > o > m

https://dl.doubtnut.com/l/_gqifDK1HcAmv
https://dl.doubtnut.com/l/_cUZdOGOrER1K


397. 


Identify A and B.

A. Phenol,acetone

B. phenylacetaldehyde

C. Benzoic acid, acetone

D. Benzaldehyde,ethanol

Answer: A

Watch Video Solution

398. Glycerol on oxidation with bismuth nitrate produce

https://dl.doubtnut.com/l/_a4YE5YE7FYZc
https://dl.doubtnut.com/l/_GXJ7jeETgfaT


A. glyceric acid

B. glyoxylic acid

C. oxalic acid

D. meso-oxalic acid

Answer: D

Watch Video Solution

399. Convert: 1-propoxypropane from propan-1-ol.

Watch Video Solution

400. Assertion Glycerol is purified by distillation under reduced pressure.

Reason Glycerol is a trihydric alcohol.

A. If both Assertion and Reason are true and reason is correct

explanation of Assertion

https://dl.doubtnut.com/l/_GXJ7jeETgfaT
https://dl.doubtnut.com/l/_wXKrHAQneJW9
https://dl.doubtnut.com/l/_jlsBWyVyKykv


B. If both Assertion and Reason are true but reason is not the correct

explanation of Assertion

C. If Assertion is true but Reason is false

D. If both Assertion and Reason are false

Answer: B

Watch Video Solution

401. Conversion of ethyl alcohol into acetaldehyde is an example of

A. hydrolysis

B. oxidation

C. reduction

D. molecular rearrangement

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_jlsBWyVyKykv
https://dl.doubtnut.com/l/_OeQTCT8IuwMW


402. You are given benzene, conc.  and  and dil. . Write

the equations for the prepararion of phenol using these reagents.

Watch Video Solution

H2SO4 NaOH HCl

403. Phenol is treated with bromine water and shaken well. The white

precipitate formed during the process is

A. m-bromophenol

B. 2,4,6-tribromophenol

C. 2-4 dibromophenol

D. a mixture of o-and p-bromophenols

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_OeQTCT8IuwMW
https://dl.doubtnut.com/l/_2CXn9fAkOhQv
https://dl.doubtnut.com/l/_YueAfdOXFHUc
https://dl.doubtnut.com/l/_MUfuReDXiSqm


404. The main product obtained from phenol with  is

A. BHC

B. hexachlorobenzene

C. chlorobenzene

D. triphenyl phosphate

Answer: D

Watch Video Solution

PCl5

405. Upon treatment with  and aqueous  which of the following

compounds will from iodoform?

A. 

B. 

C. 

D. 

I2 NaOH1

CH3CH2CH2CH2CHO

CH3CH2COCH2CH3

CH3CH2CH2CH2CH2OH

CH3CH2CH2CH(OH)CH3

https://dl.doubtnut.com/l/_MUfuReDXiSqm
https://dl.doubtnut.com/l/_Z4nAxhMTD27T


Answer: D

Watch Video Solution

406. Which one of the following properties is exhibited by phenol?

A. It is soluble in aq. NaOH and evolves  with aq.

B. It is soluble in aq. NaOH and does not evolve  with aq. 

C. It is not soluble in aq. NaOH but evolves  with aq.

D. It is insoluble in aq. NaOH and does not evolve 

NaHCO_3`

Answer: B

Watch Video Solution

CO2 NaHCO3

CO2

NaHCO3

CO2 NaHCO3

CO2withaq.

407. The reaction of phenol with excess of bromine water gives

https://dl.doubtnut.com/l/_Z4nAxhMTD27T
https://dl.doubtnut.com/l/_gyD6Hz7o6w8a
https://dl.doubtnut.com/l/_1SuiInmjwT5C


A. m-bromophenol

B. o-and p-bromophenol

C. 2,4-dibromophenol

D. 2,4,6-tribromophenol

Answer: D

Watch Video Solution

408. Power alcohol is a mixture of

A.  petrol +  ethanol+small quantity of benzene

B.  ethanol +  benzene+small quantity of petrol

C.  petrol  ethanol+ small quantity of benzene

D.  petrol+  benzene+small quantity of ethanol

Answer: A

Watch Video Solution

80% 20%

80% 20%

50% +50%

80% 20%

https://dl.doubtnut.com/l/_1SuiInmjwT5C
https://dl.doubtnut.com/l/_6vaDFv4bxYe3


409. Which of the following alcohol is unable to turn orange colour of

chromic acid to green?

A.  alcohol

B.  alcohol

C.  alcohol

D. Allyl alcohol

Answer: C

Watch Video Solution

1∘

2∘

3∘

410. In the conversion of ethanol into methanol which of the following

reagents will be used?

A. 

B. NaOH+CaO

K2Cr2O7 /H2SO4

https://dl.doubtnut.com/l/_6vaDFv4bxYe3
https://dl.doubtnut.com/l/_Nq2DVFTESa2l
https://dl.doubtnut.com/l/_MICBaCAPE9C4


C. 

D. All of these

Answer: D

Watch Video Solution

Cl2 + aqKOH

411. Which of the following compounds can be used as antifreeze in

automobile radiators?

A. Methyl alcohol

B. Glycol

C. Nitrophenol

D. Ethyl alcohol

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_MICBaCAPE9C4
https://dl.doubtnut.com/l/_LsV2ysRh40FB
https://dl.doubtnut.com/l/_pzdKAh4d9DHX


412. HCHO was treated with reagent X. The product formed upon

hydrolysis in the presence of an acid gave  .The reagent X is

A. alcoholic KOH

B. alcoholic KCN

C. 

D. aq.KOH

Answer: C

Watch Video Solution

C2H5OH

CH3Mgl

413. The acid which do not contain carboxylic acid is

A. glutaric acid

B. picric acid

C. stearic acid

D. Terephthalic acid

https://dl.doubtnut.com/l/_pzdKAh4d9DHX
https://dl.doubtnut.com/l/_GLZrxXTwWqyg


Answer: B

Watch Video Solution

414. The most suitable reagent for the conversion of

 is

A. 

B. 

C. PCC

D. 

Answer: C

Watch Video Solution

RCH2OH → RCHO

KMnO4

K2Cr2O7

CrO3

415. The best reagent to convert pent -3-en-2-ol into pent -3-en-2-one is

https://dl.doubtnut.com/l/_GLZrxXTwWqyg
https://dl.doubtnut.com/l/_RtDA1DKOtO6j
https://dl.doubtnut.com/l/_WRtx5t8Ied4G


A. pyridinium chlorochromate

B. chromic anhydride in glacial acetic acid

C. acidic dichromate

D. acidic permanganate

Answer: A

Watch Video Solution

416. The alcohol that produces turbidity immediately with Lucas reagent

at room temperature is

A. 1-hydroxy butane

B. 2-hydroxy butane

C. 2-hydroxy-2- methyl propane

D. 1-hydroxy -2-methyl propane

Answer: C

https://dl.doubtnut.com/l/_WRtx5t8Ied4G
https://dl.doubtnut.com/l/_FDDkdVxZ6p7J


Watch Video Solution

417. Give the structures and IUPAC names of monohydric phenols of

molecular formula .

Watch Video Solution

C7H8O

418. The major product formed during hydroboration oxidation of 1-

methyl cyclopentene is

A. 

B. 

C. 

https://dl.doubtnut.com/l/_FDDkdVxZ6p7J
https://dl.doubtnut.com/l/_wmFEmBicyMgw
https://dl.doubtnut.com/l/_8r9GNh7QrlPc


D. 

Answer: C

Watch Video Solution

419. 


this conversion can be achieved by

A. 

B. 

C. cold dil

D. All of these

Answer: D

Watch Video Solution

O3, Zn, thenLiAIH4 /H2O

O3,H2O, thenLiAIH4 /H2O

KMnO4,HIO4, thenLiAIH4 /H2O

https://dl.doubtnut.com/l/_8r9GNh7QrlPc
https://dl.doubtnut.com/l/_jjp9h1ytnsFa


420. 


Compounds A and B are respectively.

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_jjp9h1ytnsFa
https://dl.doubtnut.com/l/_iEpFQf9Tfsot


421. In the given reaction 




[X] and[Y] are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_zz5pCoSTiu6H


422. Which of the following compounds on reaction with

(excess )will give a tertiary alcohol?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3MgBr

C2H5CHO

C2H5COOCH3

C2H5COOH

423. Which of the following could be employed to transform ethanol into

1-propanol?

A. HBr,Mg/ether then

B. HBr,Mg/ether the HCHO them 

C. 

H3O
+

H3O
+

H2SO4at140
∘
C

https://dl.doubtnut.com/l/_aMiEBy3Bxlr1
https://dl.doubtnut.com/l/_VAFzSgBoPg5y


D. 

Answer: B

Watch Video Solution

424. 


can be prepared from which of the following combinations?

A. 

B. 

C. 

D. All of these

C6H5 − CHOandCH3MgCl

C6H5MgBrandCH3CHO

https://dl.doubtnut.com/l/_VAFzSgBoPg5y
https://dl.doubtnut.com/l/_GRP1NpVbsPGv


Answer: D

Watch Video Solution

425. Convert: 2-Methylbutanal to 2-Methylbutan-1-ol.

Watch Video Solution

426. Convert: Methyl (2-oxocyclohexyl) ethanoate to Methyl (2-

hydroxycyclohexyl) ethanoate.

Watch Video Solution

427. Convert: Chlorobenzene to Phenol.

Watch Video Solution

https://dl.doubtnut.com/l/_GRP1NpVbsPGv
https://dl.doubtnut.com/l/_FJCHD2JFbjVG
https://dl.doubtnut.com/l/_omOMySmpty9V
https://dl.doubtnut.com/l/_crVaTXttGsSD


428. The molar conductivity of a  solution of  with

electrolytic conductivity of  x   at 298K is:

Watch Video Solution

0.5mol/dm3 AgNO3

5.76 10−3 Scm−1

429. Write the reaction when:
Ethoxybenzene reacts with .

Watch Video Solution

HBr

430. The order of reactivity of the following alcohols towards conc.HCl is

A. I > II > III > IV

https://dl.doubtnut.com/l/_ejXZYgoLPLas
https://dl.doubtnut.com/l/_qbxfNJ9L2bHd
https://dl.doubtnut.com/l/_GO1arpkSFUjA


B. 

C. 

D. 

Answer: C

Watch Video Solution

I > III > II > IV

IV > III > II > I

IV > III > II > I

431. Which one of the following compounds decolourises aqueous

bromine and also gives white fumes of HCl on reaction with ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

PCl5

CH3CH2CH2CH2OH

CH3COCH2CH = CH2

CH3OCH2CH2CH2OH

CH3 − CH = CH − CH2 − OH

https://dl.doubtnut.com/l/_GO1arpkSFUjA
https://dl.doubtnut.com/l/_f45h8tJIkxVR


432. When 




undergoes , then what will be the major product?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H2SO4

https://dl.doubtnut.com/l/_f45h8tJIkxVR
https://dl.doubtnut.com/l/_ZEU5gZldGraw


433. Which of the following will be the major product when 

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_ZEU5gZldGraw
https://dl.doubtnut.com/l/_RJMgsrOK8KwJ


Answer: D

Watch Video Solution

434. The compound that reacts fastest with Lucas reagent (Conc.

) at room temperature is

A. butan-1-ol

B. butan-2-ol

C. 2 methyl propan -1-ol

D. 2 methyl propan -2-ol

Answer: D

Watch Video Solution

HCl + ZnCl2

https://dl.doubtnut.com/l/_RJMgsrOK8KwJ
https://dl.doubtnut.com/l/_WIo4mMff2C0P


435. Consider the following reaction I AND II







Product X and Y are respectively

A. picric acid, styphnic acid

B. styphnic acid, picric acid

C. picric acid,benzoic acid

https://dl.doubtnut.com/l/_F84KYL2K47G5


D. picric acid, salicylic acid

Answer: A

Watch Video Solution

436. The decreasing order of acidic strength of the following

A. 

B. 

C. 

D. 

Answer: C

IV > III > II > I

II > IV > III > I

II > III > IV > I

II > I > III > IV

https://dl.doubtnut.com/l/_F84KYL2K47G5
https://dl.doubtnut.com/l/_y6rqn2Qr8D50


Watch Video Solution

437. During the electrolysis of molten sodium chloride, the time required

to produce 0.10 mol of chloride gas using a current of 3 amperes is:

Watch Video Solution

438. Equimolar quantities of ethanol and methanol are heated with conc

.The product(s) formed is/are

A. 

B. 

C. 

D. All of these

Answer: D

Watch Video Solution

H2SO4

C2H5 − O − C2H5

CH3 − O − CH3

C2H5 − O − CH3

https://dl.doubtnut.com/l/_y6rqn2Qr8D50
https://dl.doubtnut.com/l/_zlvbRwgyIcsT
https://dl.doubtnut.com/l/_IhZrDAplbLBt


439. Which of the following will be the major product on reaction of 3,3-

dimethylbut-1-ene with ethyl alcohol and conc. ?

A. 2-ethoxy--3,3-dimethylbutane

B. 2-ethoxy-2,3-dimethylbutane

C. 1-ethoxy-3,3-dimethylbutane

D. None of these

Answer: B

Watch Video Solution

H2SO4

440. When methyl t-butyl ether is formed ?

A. 

B. 

C. 

D. 

(C2H5)3CONa + CH3Cl

CH3ONa + (CH3)3Cl

(CH3) − 3CONa + C2H5Cl

(CH3)3CONa + CH3Cl

https://dl.doubtnut.com/l/_67XgjYDWayuB
https://dl.doubtnut.com/l/_WCD94zZRuX6Y


Answer: D

Watch Video Solution

441. From which of the following 




Will not be formed?

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_WCD94zZRuX6Y
https://dl.doubtnut.com/l/_N8oYQejNEuL8


Answer: C

Watch Video Solution

442. Diethyl ether on heating with conc. HI gives two moles of

A. ethanol

B. iodoform

C. ethyl iodide

D. methyl iodide

Answer: C

Watch Video Solution

443. tert-butyl methyl ether on heating with HI (1 mol) gives a mixture of

A. tert-Butyl alcohol and methyl iodide

https://dl.doubtnut.com/l/_N8oYQejNEuL8
https://dl.doubtnut.com/l/_NEMAn0LgPKW9
https://dl.doubtnut.com/l/_FiYsM9nfYwMM


B. tert-Butyl Iodide and methanol

C. Isobutylene and methyl iodide

D. Isobutylene and methanol

Answer: B

Watch Video Solution

444. 


The product of the above reaction is

A. 

B. 

https://dl.doubtnut.com/l/_FiYsM9nfYwMM
https://dl.doubtnut.com/l/_PXB89QzgxGms


C. 

D. 

Answer: C

Watch Video Solution

445. THF is treated with excess of HBr at 373 K.The product is

A. 1,4-dibromobutane

B. 1-bromo-2-butene

C. 4-bromo-1 butanol

D. 4-bromo-1- butene

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_PXB89QzgxGms
https://dl.doubtnut.com/l/_hpRxFDG0RfwC


446. What are the products of the following reaction?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

p − Br − C6H4OCH2CH2Br

Ph − Br + BrCH2CH2OH

Ph − Br + Br − CH2CH2 − Br

Ph − OH + CH2 _ CHBr2

447. The products formed when  is treated with HI

A. 

(CH3)3COC2H5

(CH3)3CIandCH3OH

https://dl.doubtnut.com/l/_hpRxFDG0RfwC
https://dl.doubtnut.com/l/_z87Q25pQeztG
https://dl.doubtnut.com/l/_heyeyZFtb0DM


B. 

C. 

D. 

Answer: B

Watch Video Solution

(CH□ )3ClandC2H5OH

(CH3)2C(C2H5)IandCH3OH

C2H5land(CH3)2C(C2H5)I

448. In the given reaction




[X] will be

A. 

B. 

https://dl.doubtnut.com/l/_heyeyZFtb0DM
https://dl.doubtnut.com/l/_fIfGUUCvhVaY


C. 

D. 

Answer: B

Watch Video Solution

CH3 − CH = CH2

449. If the  for a given reaction hasa negative value, which of the

following gives the correct relationships for the values of  and  ?

Watch Video Solution

Ecell

δG Keq

450. 0.36 g of an alcohol R-OH was added ot  and the gas

evolved measured 112 mL at STP. The molar mass of R-OH will be

A. 47

B. 79

CH3MgBr

https://dl.doubtnut.com/l/_fIfGUUCvhVaY
https://dl.doubtnut.com/l/_TBDRCNwz22Wp
https://dl.doubtnut.com/l/_JAAxKc2UXI1l


C. 72

D. 77

Answer: C

Watch Video Solution

451. 10 g of a mixture of hexane and ethanol are reacted with sodium to

give 200 Ml hydrogen at  and 760 mm pressure. What is the

percentage of ethanol into the mixture?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

27∘

4.6 %

8.13 %

9.21 %

7.48 %

https://dl.doubtnut.com/l/_JAAxKc2UXI1l
https://dl.doubtnut.com/l/_WWk6KSkygQpd


452. Which one of the following reactions is correct?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

R − OH + Na2CO3 → RONa + H2CO3

R − OH + NaOH → RONa + H2O

PhOH + NaOH → PhONaH2O

ROH + NaHCO3 → RONA + H2CO3

453. 


Compound ( C) is

https://dl.doubtnut.com/l/_WWk6KSkygQpd
https://dl.doubtnut.com/l/_AOdSBufBB61s
https://dl.doubtnut.com/l/_w3tcG1CwX9vb


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

HOCH2 − CH2 − CH2 − CH2CH2CH2 − Cl

454. A compound with molecular formula  is converted by the

action of acetyl chloride to a compound with molecular weight 190.The

original compound has

A. One OH group

B. Two OH groups

C. Three OH groups

D. No OH group

C4H10O3

https://dl.doubtnut.com/l/_w3tcG1CwX9vb
https://dl.doubtnut.com/l/_fs6dBdd2Jtk3


Answer: B

Watch Video Solution

455. The correct order of decreasing of the following acid is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

C6H5SO3H > C6H5COOH > C6H5CH2COOH > C6H5OH

C6H5SO3H > C6H5COOH > C6H5OH > C6H5CH2COOH

C6H5CH2COOH > C6H5COOH > C6H5OH > C6H5SO3H

C6H5OH > C6H5CH2COOH > C6H5COOH > C6H5SO3H

https://dl.doubtnut.com/l/_fs6dBdd2Jtk3
https://dl.doubtnut.com/l/_LxP4vsN9bhjM


456. Identify compounds (A)& (F) in the following sequence of reactions.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3 − CH2 − CH2 − Br, CH3 − CH2 − CH2 − O − CH2 − CH =

https://dl.doubtnut.com/l/_PCrpofsd0flL


457. In the reaction




The major product A is

A. 

B. 

C. 

https://dl.doubtnut.com/l/_mAML3rlzKlPQ


D. 

Answer: A

Watch Video Solution

458. Which of the following will be obtained by keeping diethyl ether in

contact with air for a long time?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

C2H5OCH(CH3)OOH

CH3CH2OC2H4OH

(C2H5)O → OOH

C2H5OCH(CH3)OH

https://dl.doubtnut.com/l/_mAML3rlzKlPQ
https://dl.doubtnut.com/l/_PZvXmMANdkNW


459. Among the alkenes which one produces tertiary butyl alcohol on acid

hydration?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3CH2CH = CH2

CH3CH = CH − CH3

(CH3)2C = CH2

CH3 − CH = CH2

460. Choose the reaction sequence that would best accomplish the

preparation of 2-methylcyclohexanol

A. 

https://dl.doubtnut.com/l/_LhZITdMHc95p
https://dl.doubtnut.com/l/_QYlck91oyuh4


B. 

C. 

D. 

Answer: D

Watch Video Solution

461. 


Here product X And Y are respectively

https://dl.doubtnut.com/l/_QYlck91oyuh4
https://dl.doubtnut.com/l/_5ON2d1mw2czm


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

462. Which of the following reagents can be used for the reduction of

?

A. 

B. 

C. 

CH3COOH → CH3CH2OH

LiaIH4 /H2O

B2H6 /H
+

H2 /Pd

https://dl.doubtnut.com/l/_5ON2d1mw2czm
https://dl.doubtnut.com/l/_fzJ1uQ9yH83x


D. 

Answer: D

Watch Video Solution

NaBH4

463. Consider the following reduction and advise the best reagent.

A. HI/RedP

B. 

C. 

D. Zn-Hg/HCl

Answer: C

LiAIH4 /H2O

NaBH4 /H2O

https://dl.doubtnut.com/l/_fzJ1uQ9yH83x
https://dl.doubtnut.com/l/_8m8KtFWMNrfQ


Watch Video Solution

464. 


(A) is

A. 

B. 

C. 

https://dl.doubtnut.com/l/_8m8KtFWMNrfQ
https://dl.doubtnut.com/l/_4gUScfUxjyKu


D. 

Answer: D

Watch Video Solution

465. 


P and Q are respectively

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_4gUScfUxjyKu
https://dl.doubtnut.com/l/_RqMoGxJn5nxh


Answer: D

Watch Video Solution

466. 


Number of  alcoholic groups present in (A+B+C) is

A. 1

B. 2

C. 3

D. 4

Answer: D

Watch Video Solution

1∘

https://dl.doubtnut.com/l/_RqMoGxJn5nxh
https://dl.doubtnut.com/l/_IXjpldIoJrSW


467. Ethyl acetate . The product P is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

( 1 )CH3MgBr ( excess ) −−−−−−→
(2 )H3O

+
P

https://dl.doubtnut.com/l/_IXjpldIoJrSW
https://dl.doubtnut.com/l/_dh2bddjKgKpg


468. Give the major organic product of the following reaction.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_38CDc4cTWl8y


469. Which of the following compounds does not give a tertiary alcohol

upon reaction with magnesium bromide ?

A. 3-methylpentanal

B. ethyl benzoate

C. 4,4-dimethyl cyclohexanone

D. 4-heptanone

Answer: A

View Text Solution

/H3O
+o

470. Which of the following alcohols is not form when an ester reacts

with Grignard reagent?

A. 

https://dl.doubtnut.com/l/_O6UhVUEdVen1
https://dl.doubtnut.com/l/_bVqaNyWL1wa2


B. 

C. 

D. 

Answer: C

View Text Solution

471. Choose the reagent and reactant that would produce 2-methyl-2-

butanol as a major product.

https://dl.doubtnut.com/l/_bVqaNyWL1wa2
https://dl.doubtnut.com/l/_8SZiLshgbyo1


A. Only I

B. Only I, III

C. Only II and III

D. I ,II and III

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_8SZiLshgbyo1


472. The correct boiling point order of the following alcohols is 

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

I > II > III > IV

IV > III > II > I

IV > III > I > II

IV > II > III > I

473. Which of the following would be least soluble in water?

https://dl.doubtnut.com/l/_xgMFLgM6bXcH
https://dl.doubtnut.com/l/_ya9QIBKjp4nc


A. 1-propanol

B. 2-propanol

C. 1,5-pentanediol

D. 1-hexanol

Answer: D

Watch Video Solution

474. Among the following carboxylic acids, the one which undergoes acid

catalysed esterification with  at the slowest rate is

A. HCOOH

B. 

C. 

D. 

Answer: C

CH3OH

CH3COOH

(CH3)3COOH

CH3CH2COOH

https://dl.doubtnut.com/l/_ya9QIBKjp4nc
https://dl.doubtnut.com/l/_1u78N3PwX2sL


Watch Video Solution

475. 


Rate of the reaction faster when R is

A. 

B. 

C. 

D. equal in all case

Answer: B

Watch Video Solution

CH3 −

https://dl.doubtnut.com/l/_1u78N3PwX2sL
https://dl.doubtnut.com/l/_UUiMITpWMAMq


476. The order of reactivity of methyl alcohol (I) ,isopropyl alcohol (II)

tertiary butyl alcohol (III) and ethyl alcohol (IV) for esterification in

decreasing order will be

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

I > II > III > IV

IV > III > II > I

I > IV > II > III

I > IV > III > II

477. In the given reaction correct order of reactivity of HX in decreasing

order is 

A. 

B. 

ROH + HX → RX + H2O

HCl > HBr > HI

HI > HCl > HBr

https://dl.doubtnut.com/l/_CmNUzUYwwW2L
https://dl.doubtnut.com/l/_6qH3vMCrsFKA


C. 

D. 

Answer: C

Watch Video Solution

HI > HBr > HCl

HBr > HCl > HI

478. An unknown polyhydroxy compound (A) (molar mass=180) on

acylation gives a product (molar mass=390), then find the number of

hydroxyl group present in compound (A)

A. 4

B. 5

C. 6

D. 10

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_6qH3vMCrsFKA
https://dl.doubtnut.com/l/_kYZ6hIUhQLxf


479. 


is best achieved through use of the reagent in a low temperature

reaction

A. 

B. HBr,peroxide

C. 

D. conc.HBr

Answer: C

Watch Video Solution

NaBr,H2SO4

PBr3

https://dl.doubtnut.com/l/_kYZ6hIUhQLxf
https://dl.doubtnut.com/l/_ammJobHd6K2s


480. The compound that undergoes dehydration very easily is

A. 2-methylpropan-2-ol

B. ethyl alcohol

C. 3-methyl-2-butanol

D. propyl alcohol

Answer: A

Watch Video Solution

481. Which one of the following will readily be dehydrated in acidic

medium?

A. 

B. 

https://dl.doubtnut.com/l/_osXd6rKEIkLp
https://dl.doubtnut.com/l/_tJIW39QL6Yg5


C. 

D. 

Answer: A

Watch Video Solution

482. In the following reactions,




The major products (A)and( C) are respectively

A. 

B. 

https://dl.doubtnut.com/l/_tJIW39QL6Yg5
https://dl.doubtnut.com/l/_HUFCroExUKy8


C. 

D. 

Answer: C

Watch Video Solution

483. Which alkenes would you except to the major product of the

following dehydration ?

A. 

https://dl.doubtnut.com/l/_HUFCroExUKy8
https://dl.doubtnut.com/l/_KTloQDghLC6a


B. 

C. 

D. 

Answer: B

Watch Video Solution

484. 


The expected major product may be

https://dl.doubtnut.com/l/_KTloQDghLC6a
https://dl.doubtnut.com/l/_lq6SoZprCP9a


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_lq6SoZprCP9a


485. 


?

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_69ZKTs6QCXQl


Answer: B

Watch Video Solution

486. 


?

A. 

B. 

https://dl.doubtnut.com/l/_69ZKTs6QCXQl
https://dl.doubtnut.com/l/_K7ZB2tXoZSRh


C. 

D. 

Answer: B

Watch Video Solution

487. 


Compound (A)and (B) are respectively

https://dl.doubtnut.com/l/_K7ZB2tXoZSRh
https://dl.doubtnut.com/l/_L4HFlER06kPq


A. 

B. 

C. 

D. 

Answer: D

View Text Solution

488. 


Products obtained are

https://dl.doubtnut.com/l/_L4HFlER06kPq
https://dl.doubtnut.com/l/_N35IUsvTBc58


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

4HCO2H,HCHO

4CH2O,HCO2H

CO24HCHO

CO23HCO2H,HCHO

489. One mole of glycerol is treated with an excess of . The number

of moles of  consumed and the product are respectively

A. 2 mol , HCHO (2 mol) and HCOOH (1 mol)

B. 3 mol, HCHO (3 mol)

C. 2 mol, HCHO (1mol) and HCOOH (2 mol )

D. 3 mol, HCOOH(3 mol)

Answer: A

HIO4

HIO4

https://dl.doubtnut.com/l/_N35IUsvTBc58
https://dl.doubtnut.com/l/_ntqdzKvPeZZ7


View Text Solution

490. Which of the following alcohols form white with Lucas reagent at

warming condition?

A. 

B. 

C. 

D. all of these

Answer: D

Watch Video Solution

CH3CH2 − OH

491. The Lucas test is used to distignuish  alcohols. The

alcohol to be tested is added to a solution of anhydrous  in conc.

1∘ , 2∘ and3∘

ZnCl2

https://dl.doubtnut.com/l/_ntqdzKvPeZZ7
https://dl.doubtnut.com/l/_nlDcTnotlhXW
https://dl.doubtnut.com/l/_RqXdZ6TQLyTz


HCI at room temperature. Which of the following statements is not

correct?

A. - alcohols dissolve, but do not react

B. -alcohols react quickly to give an insoluble alkyl chloride

C. -alcohols rapidly dehydrate and the gaseous alkene bubbles out

of the test solution

D.  -alcohols dissolve and react slowly to give an insoluble alkyl

chloride

Answer: C

Watch Video Solution

1∘

3∘

3∘

2∘

492. blue colour. Which of the following

is R-OH?

A. Primary

R − OH
P + l2
−−→

AgNO2

−−−→
( i )HNO2

−−−−−→
( ii ) alkall

https://dl.doubtnut.com/l/_RqXdZ6TQLyTz
https://dl.doubtnut.com/l/_YunoiqUcsSIo


B. Secondary

C. Tertiary

D. Any of these

Answer: B

Watch Video Solution

493. 


A. red and blue

B. blue and red

C. blue in both case

D. red in both case

Answer: C

Watch Video Solution

RCH2OH
I2

−−→
redP

A
AgNO2

−−−→ B
HNO2

−−−→ C

R2CHOH
I2

−−→
redP

X
AgNO2

−−−→ Y
HNO2
−−−→ Z

https://dl.doubtnut.com/l/_YunoiqUcsSIo
https://dl.doubtnut.com/l/_WjdmtP4DHLU7


494. An unknown organic compound [X] on treatment with

 gives another unknown compound Y which has only

C's,H's and oxygen. (X) given blue colour in Victor Meyer Test. [X] and [Y]

are respectively

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

K2Cr2O7 /H
⊕

CH3OH,HCOOH

https://dl.doubtnut.com/l/_WjdmtP4DHLU7
https://dl.doubtnut.com/l/_mRY7nYIWxcZi


495. In which of the following reactions the final product is phenol?

A. I and III only

B. II and IV only

C. I, III and IV only

D. I, II ,III and IV

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_BfKTCaRUeQnI


496. The Conversion of m-nitrophenol to resorcinol involves respectively

A. hydrolysis, diazotization and reduction

B. diazotization, reduction and hydrolysis

C. hydrolysis, reduction and diazotization

D. reduction, diazotization and hydrolysis

Answer: D

Watch Video Solution

497. 


Products (A)and(B) are respectively

https://dl.doubtnut.com/l/_BfKTCaRUeQnI
https://dl.doubtnut.com/l/_swczMdnh7aYm
https://dl.doubtnut.com/l/_uQyMneDME8W8


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

498. Chlorobenzene Salicylaldehyde


X and Y reactions are respectively

A. Fries rearrangement and Kolbe-Schmitt

B. Cumene and Reimer-Tiemann

C. Dow and Reimer-Tiemann

Reaction
−−−−→

X
Phenol

Reaction
−−−−→

Y

https://dl.doubtnut.com/l/_uQyMneDME8W8
https://dl.doubtnut.com/l/_VPlG8chj84qr


D. Dow and Friedel -Craft

Answer: C

Watch Video Solution

499. 


compound A and B are respectively

A. 

B. 

https://dl.doubtnut.com/l/_VPlG8chj84qr
https://dl.doubtnut.com/l/_CaIk2MGwAeYf


C. 

D. 

Answer: B

Watch Video Solution

500. In the following , the order of acidity is 

A. 

B. 

C. 

D. 

III > IV > I > II

I > IV > III > II

II > I > III > IV

IV > III > I > II

https://dl.doubtnut.com/l/_CaIk2MGwAeYf
https://dl.doubtnut.com/l/_1IC7kZlXp8g2


Answer: D

Watch Video Solution

501. Which of the following compounds released  from 

solution?

A. 

B. 

C. 

D. 

CO2 NaHCO3

https://dl.doubtnut.com/l/_1IC7kZlXp8g2
https://dl.doubtnut.com/l/_SNy11XEIAuDH


Answer: D

Watch Video Solution

502. Consider the following sequence of reactions

(major product)


The product (B) is

A. 

B. 

C. 

D. 

C6H5OH
(CH3CO2 )O
−−−−−−−→

pyridine
(A)

AICI3
−−−→
160 ∘C

(B)

https://dl.doubtnut.com/l/_SNy11XEIAuDH
https://dl.doubtnut.com/l/_IQ2FtzpvdTx2


Answer: B

Watch Video Solution

503. When phenol is refluxed with allyl bromide in acetone solution in the

presence of anhydrous potassium carbonate a product may be isolated

which, on heating to  is converted mainly to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

200∘C

https://dl.doubtnut.com/l/_IQ2FtzpvdTx2
https://dl.doubtnut.com/l/_lYCGKD47VTlu


Watch Video Solution

504. Which of the following alcohols gives the best yield of dialkyl ether

on being heated with a trace of sulphuric acid?

A. 2-pentanol

B. cyclopentanol

C. 2-methyl-2-butanol

D. 1-pentanol

Answer: D

Watch Video Solution

505. Williamson synthesis is an example of

A. Nucleophilic addition

B. Nucleophilic substitution

https://dl.doubtnut.com/l/_lYCGKD47VTlu
https://dl.doubtnut.com/l/_XWInOAZXmvjm
https://dl.doubtnut.com/l/_Bz4qOkGXq9mo


C. Electrophilic addition

D. Electrophilic substitution

Answer: B

Watch Video Solution

506. Complete the following reaction

A. 

B. 

C. 

D. 

Answer: A

C6H5OC2H5

C2H5 − O − C2H5

C6H5OC6H5

C6H5I

https://dl.doubtnut.com/l/_Bz4qOkGXq9mo
https://dl.doubtnut.com/l/_USzMfpLX0yuY


Watch Video Solution

507. Which of the following ethers is/are not prepared by Williamson's

synthesis ?




https://dl.doubtnut.com/l/_USzMfpLX0yuY
https://dl.doubtnut.com/l/_G3cMvhi9EfhD


A. only I and II

B. only I, III and IV

C. only I, II and III

D. I, II ,III and IV

Answer: B

Watch Video Solution

508. Which of the following is correct about the ether?

A. diethyl ether has zero dipole moment

B. dimethyl ether is highly soluble in water

C. dimethyl ether and ethyl methyl ether are yellow colour liquid at

ordinary temperature

D. The bond angle of C-O-C in ether is lower than the bond angle of H-

O-H in water

https://dl.doubtnut.com/l/_G3cMvhi9EfhD
https://dl.doubtnut.com/l/_mMLLhlGfxUaW


Answer: B

Watch Video Solution

509. 


(B) turns neutral `FeCl_3 violet. (B) and ( C) are respectively

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_mMLLhlGfxUaW
https://dl.doubtnut.com/l/_26q8J6PSNUwt


510. 


The products are respectively

A. 

B. 

C. 

D. None of these

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_26q8J6PSNUwt
https://dl.doubtnut.com/l/_UIQa4SYjhD70


511. 


Products  and  respectively are

A. 

B. 

C. in both the cases

D. `CH_3I and (CH_3)_3 CI in both the cases

Answer: A

Watch Video Solution

P − 1 P2

(CH3) − 3CI + CH3OHand(CH3)3CI + CH3I

(CH3)3CI + CH3Iand(CH3)3COH + CH3I

(CH3)3CI + CH3OH

https://dl.doubtnut.com/l/_8l523cIWFjVq


512. For the reaction 




The product obtained is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_64dhyQCApeI5
https://dl.doubtnut.com/l/_MrwZpCL0HlLM


513. The major product of the following reaction is 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_MrwZpCL0HlLM
https://dl.doubtnut.com/l/_bU2wsSHU7HNB


514. 


x moles of of HI is consumed. The value of x is

A. 2

B. 3

C. 5

D. 6

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_bU2wsSHU7HNB


515. Consider the following reactions 




and choose the correct answer

A. A and B are both 3- methoxy-3-methyl-butan-2-ol

B. A and B both are 3-methoxy-2-methyl-butan-2-ol

C. A is 3-methoxy-2-methyl-2-butan-2-ol and B is 3-methoxy-3-methyl-

butan-2-ol

D. A is 3-methoxy-3-methyl-butan-2-ol and B is 3-methoxy-2-methyl-

butan-2-ol

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_MbsWqZ0NwktM
https://dl.doubtnut.com/l/_Gh7e2ELvRxW1


516. In the reaction

,


the products is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Gh7e2ELvRxW1


517. The major product formed in the reaction is 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Gh7e2ELvRxW1
https://dl.doubtnut.com/l/_1KCK2Xa4Y7Ru


518. (I)1,2-dihydroxybenzene 

(II)1,3-dihydroxybenzene

(III)1,4-hydroxybenzene

(IV)Hydroxybenzene

The increasing order of boiling points of the above mentioned

compounds is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

I < II < III < IV

I < II < IV < III

IV < I < II < III

IV < II < I < III

https://dl.doubtnut.com/l/_IIoqyZBHvIVv


519. 


Product Z of above reaction is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_MXEtH7A4Dcwj
https://dl.doubtnut.com/l/_4znUkjWIF5ik


520. 0.092 g of a compound with the molecular formula  on

reaction with an excess of  gives 67.00 mL Of methane at STP.

The number of active hydrogen atoms present in a molecule of the

compound

A. one

B. two

C. three

D. four

Answer: C

Watch Video Solution

C3H8O3

CH3MgI

521. What is the major organic final product of the following sequence of

reactions ?

https://dl.doubtnut.com/l/_4znUkjWIF5ik
https://dl.doubtnut.com/l/_6i3MNinexwc7


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(CH3)2CHCH2CH2OH

(CH3)2CHCH2CH2CH2OH

522. Which sequence of steps describes the best synthesis of 2-methyl-3-

pentanone?

https://dl.doubtnut.com/l/_6i3MNinexwc7
https://dl.doubtnut.com/l/_vPBNgIDTbd9E


A. (a)1-propanol + CHMgBr, diethyl ether 

(b)  


( c)

B. (a)1-propanol +  heat 


(b) 


(c ) 

C. (a)1-Propanol+PCC,  


(b)(CH_3)_2 H_3O^+

Na_2Cr_2O_7,H_2SO_4,H_2O,`heat

D. (a)2-Propanol + heat 


(b)  diethyl ether


(CH3)2

H3O
+

PC, CH2CI2

Na2Cr2O7,H2SO4,H2O

SOCI2

(CH3)2CHCI, AICI3

CH2Cl2

CHLi, diethylether(c) (d)

Na2Cr2O7,H2SO4,H2O

CH3CH2CH2Li

https://dl.doubtnut.com/l/_vPBNgIDTbd9E


( c) 


(d)

Answer: C

Watch Video Solution

H3O
+

PC, CH2Cl2

523. Consider the following reaction,

Product


Among the following which one cannot be formed as a product under any

conditions?

A. Ethyl hydrogen sulphate

B. Ethylene

C. Acetylene

D. Diethyl ether

Answer: C

W t h Vid S l ti

C2H5OH + H2SO4 →

https://dl.doubtnut.com/l/_vPBNgIDTbd9E
https://dl.doubtnut.com/l/_XYzEMSQGu2Xs


Watch Video Solution

524. In which of the following reactions inversion of configuration takes

place?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_XYzEMSQGu2Xs
https://dl.doubtnut.com/l/_NpbjVRBt1s9T


525. Identify the major product,

A. 

B. 

C. 

https://dl.doubtnut.com/l/_gYf3Uk21Vxi6


D. 

Answer: A

Watch Video Solution

526. 


Product (B ) of the above reaction is

A. 

B. 

https://dl.doubtnut.com/l/_gYf3Uk21Vxi6
https://dl.doubtnut.com/l/_a91ntVWT9huM


C. 

D. 

Answer: C

Watch Video Solution

527. Two aromatic compounds having formula  which are easily

identifiable by FeCl_3` solution test (Violet colouration ) are

A. o-cresol and benzyl alcohol

B. m-cresol and p-cresol

C. o-cresol and p-cresol

D. methyl phenyl ether and benzyl alcohol

Answer: A

C7H8O

https://dl.doubtnut.com/l/_a91ntVWT9huM
https://dl.doubtnut.com/l/_QMhFtA3NCmTw


Watch Video Solution

528. 


Here the major product is

A. 

B. 

https://dl.doubtnut.com/l/_QMhFtA3NCmTw
https://dl.doubtnut.com/l/_p9QbrVOj3gbh


C. 

D. 

Answer: B

Watch Video Solution

529. 


Product ( C) of the above reaction is

A. 

https://dl.doubtnut.com/l/_p9QbrVOj3gbh
https://dl.doubtnut.com/l/_vmJq1VkgYlPu


B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_vmJq1VkgYlPu


530. 


Major product of the above rearrangement reaction is

A. 

B. 

https://dl.doubtnut.com/l/_q5RDuW17RqV9


C. 

D. 

Answer: D

Watch Video Solution

531. In the reaction,




What is (X)?

A. diethyl carbonate

https://dl.doubtnut.com/l/_q5RDuW17RqV9
https://dl.doubtnut.com/l/_iGUaJ13UNbK3


B. ethyl carbonate

C. diethyl peroxide

D. ethyl propionate

Answer: D

Watch Video Solution

532. 


Here product D is

A. 

https://dl.doubtnut.com/l/_iGUaJ13UNbK3
https://dl.doubtnut.com/l/_xqLAxpc076xb


B. 

C. 

D. 

Answer: B

Watch Video Solution

533. 


This transformation can be carried out by

https://dl.doubtnut.com/l/_xqLAxpc076xb
https://dl.doubtnut.com/l/_46KH2aHdOJBS


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H +Δ, Zn(Hg)HCl

HIO4, LiAIH4 /H2O

HIO4,H
+ /Δ

H + /Δ,HIO4

534. Compound (A) molecular formula  is optically active and is

oxidized by PCC in  to an optically active  product, which

is racemized in acid or base. The compound (A) may be

A. 2-pentanol

B. 2-methoxybutane

C. 2-methyl-1-butanol

D. 3-methyl-1-butanol

C5H12O

CH2Cl2 C5H10O

https://dl.doubtnut.com/l/_46KH2aHdOJBS
https://dl.doubtnut.com/l/_ZjPHxYKfyRtO


Answer: C

Watch Video Solution

535. Predict the major product of the following reaction 

A. 

B. 

C. 

https://dl.doubtnut.com/l/_ZjPHxYKfyRtO
https://dl.doubtnut.com/l/_6YNo4a6fxAPo


D. 

Answer: C

Watch Video Solution

536. The correct statement(s) about the following reaction sequence is

(are)




(1)R is steam volatile 

(2) Q gives dark violet coloration with  aqueous  solution 


(3) S gives yellow precipitate with 2,4-dinitrophenylhydrazine 

(4) S gives dark violet coloration with  aqueous  solution

1% FeCl3

1% FeCl3

https://dl.doubtnut.com/l/_6YNo4a6fxAPo
https://dl.doubtnut.com/l/_72B9bdEvlvEV


Watch Video Solution

537. The reactivity of compound Z with different halogens under

appropriate conditions is given below




(1)the steric effect of the halogen 

(2)the steric effect of tert-butyl group

(3)the electronic effect of the phenolic group 

(4)the electronic effect of the tert-butyl group

Watch Video Solution

https://dl.doubtnut.com/l/_72B9bdEvlvEV
https://dl.doubtnut.com/l/_ZWJQWE8QrDpD


538. The acidic hydrolysis of ether (X)shown below is fastest when

A. One phenyl group is replaced by a methyl group.

B. One phenyl group is replaced by a para methoxyphenyl group.

C. Two phenyl groups are replaced by two para methoxyphenyl

groups.

D. No structural change is made to X.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ENUFKPIoNUbS


539. For the identification of  naphthol using dye test, it is necessary to

use

A. dichloromethane solution of  -naphthol.

B. acidic solution of -naphthol.

C. neutral solution of -naphthol.

D. alkaline solution of -naphthol.

Answer: D

Watch Video Solution

β

β

β

β

β

https://dl.doubtnut.com/l/_jLgJAZCM0O95


540. The major product(s) of the following reaction is (are)

A. P

B. Q

C. R

D. S

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_2ahLATE9pafL
https://dl.doubtnut.com/l/_InjO4Kj7pBMi


541. An unknown alcohol is treated with the "Lucas reagent" to determine

whether the alcohol is primary, secondary or tertiary. Which alcohol

reacts fastest and by what mechanism?

A. Secondary alcohol by SN1

B. Tertiary alcohol by SN2

C. Secondary alcohol by SN2

D. Tertiary alcohol by SN1

Answer: D

Watch Video Solution

542. Which of the following reagents can be used to carry out the

following transformation?

https://dl.doubtnut.com/l/_InjO4Kj7pBMi
https://dl.doubtnut.com/l/_txX66ow5DBC5


A. 

B. Cold aq 

C. 

D. 

Answer: C::D

Watch Video Solution

OsO4 /NaHSO3

KMnO4

CH3COOH /H2O2 /H3O
⊕

m − CPBA/H3O
⊕

543. 


Identify (X) and (Z) in the above sequence of reaction

(X) + Mg
dry
−−→
ether

(Y )
( i ) (Z )

−−−−−→
( ii )H3O

+
CH3CH2CH2OH

https://dl.doubtnut.com/l/_txX66ow5DBC5
https://dl.doubtnut.com/l/_2nJmLE0CK2rz


Watch Video Solution

544. Among the given geminal diols, which is/are stable with respect to

their corresponding carbonyls?

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_2nJmLE0CK2rz
https://dl.doubtnut.com/l/_VfrMPy4CSnts


Watch Video Solution

545. Dehydration of alcohols take place more rapidly with POCl_3

H2SO4`. Select correct statement(s) about the following

dehydration reaction

A. It does not involve carbocation

B. It involves  with-  as a better leaving group

C. It involves E2 mechanism as pyridine base abstracts proton from

the adjacent carbon at the same time at which -  is leaving

D. It is E1 reaction without formation of carbocation

Watch Video Solution

thanwith

R − OPOCl2 OPOCI2

OPOCl2

https://dl.doubtnut.com/l/_VfrMPy4CSnts
https://dl.doubtnut.com/l/_bAhyXNeh8V1A


546. Which of the following alcohols turn(s)  in  into green?

A. 

B. 

C. 

D. 

Answer: B::C

Watch Video Solution

CrO3 H2SO4

(H3C)3C − OH

https://dl.doubtnut.com/l/_bAhyXNeh8V1A
https://dl.doubtnut.com/l/_h4oJUtVatNt7


547. Complete the following reaction

A. 

B. 

C. 

D. 

Answer: C::D

Watch Video Solution

NaBH4 /H2O

Zn − Hg/conc.HCl

LiAIH4 /H2O

Ni/H2

548. Which of the following alcohols respond(s) to iodoform test?

https://dl.doubtnut.com/l/_lDZ2llnJEjPB
https://dl.doubtnut.com/l/_k07MABntnu9r


A. 

B. 

C. 

D. 

Answer: A::D

Watch Video Solution

549. Ethanol is less acidic than

A. Acetic acid

B. Water

C. Phenol

D. p-nitrophenol

https://dl.doubtnut.com/l/_k07MABntnu9r
https://dl.doubtnut.com/l/_xImULoDMxekG


Answer: A::B::C::D

Watch Video Solution

550. Phenol is less acidic than

A. acetic acid

B. p-methoxyphenol

C. p-nitrophenol

D. ethane

Answer: A::C

Watch Video Solution

551. Which of the following compounds is/are soluble in ?NaHCO3

https://dl.doubtnut.com/l/_xImULoDMxekG
https://dl.doubtnut.com/l/_epLq24rBceOt
https://dl.doubtnut.com/l/_zo6uB5kqYErx


A. 

B. 

C. 

D. 

Answer: A::D

Watch Video Solution

552. Reimer Tiemann introduces an aldehyde group on to the aromatic

ring of phenol, ortho to the hydroxyl group. This reaction involves

https://dl.doubtnut.com/l/_zo6uB5kqYErx
https://dl.doubtnut.com/l/_3rXfpBJiGEIF


electrophilic aromatic substitution. This is a general method for the

synthesis of substituted salicylaldehydes as depicted below.




The electrophile in this reaction is

A. :CHCI

B. 

C. :

D. :

Answer: C

Watch Video Solution

: + (CHCl)2

CCl2

CCl3

553. Reimer Tiemann introduces an aldehyde group on to the aromatic

ring of phenol, ortho to the hydroxyl group. This reaction involves

https://dl.doubtnut.com/l/_3rXfpBJiGEIF
https://dl.doubtnut.com/l/_usBolY2WB5qZ


electrophilic aromatic substitution. This is a general method for the

synthesis of substituted salicylaldehydes as depicted below.




The structure of the intermediate (X) is

A. 

B. 

C. 

https://dl.doubtnut.com/l/_usBolY2WB5qZ


D. 

Answer: B

Watch Video Solution

554. Two isomeric forms of an organic compound A,  readily

decolourise  and give same compound (B) on catalytic

hydrogenation. Both the isomeric forms on vigorous oxidation give ( c)

which on treatment with soda lime gives 2-chloroethoxy benzene.

However, ( C) on treatment with Ni/Al alloy in alkaline medium gives 3-

ethoxybenzoic acid. Only one of the isomers of (A) gives geometrical

isomer D and E.

The structural formula of (A) is

C11H13OCl

Br2 /H2O

https://dl.doubtnut.com/l/_usBolY2WB5qZ
https://dl.doubtnut.com/l/_CsVlzAlDeo5r


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

555. Two isomeric forms of an organic compound A,  readily

decolourise  and give same compound (B) on catalytic

hydrogenation. Both the isomeric forms on vigorous oxidation give ( c)

which on treatment with soda lime gives 2-chloroethoxy benzene.

C11H13OCl

Br2 /H2O

https://dl.doubtnut.com/l/_CsVlzAlDeo5r
https://dl.doubtnut.com/l/_iUQ5EBGDOPP1


However, ( C) on treatment with Ni/Al alloy in alkaline medium gives 3-

ethoxybenzoic acid. Only one of the isomers of (A) gives geometrical

isomer D and E.

The structural formula of (A) is

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_iUQ5EBGDOPP1


Watch Video Solution

556. Match column-1 with Column-II

Watch Video Solution

557. A solution of sucrose (molar mass= 342g/mol) has been prepared by

dissolving 68.5g of sucrose in 1000g of water. The freezing point of the

solution obtained will be (  for water= 1.86 K kg/mol)Kf

https://dl.doubtnut.com/l/_iUQ5EBGDOPP1
https://dl.doubtnut.com/l/_s4FO0C1VRyYG
https://dl.doubtnut.com/l/_ZrR7SvYwQTaF


A. (a) -0.372 degree celcius

B. (b) -0.520 degree celcius

C. (c) +0.372 degree celcius

D. (d) -0.570 degree celcius

Watch Video Solution

558. Match column-1 with Column-II




https://dl.doubtnut.com/l/_ZrR7SvYwQTaF
https://dl.doubtnut.com/l/_u980jsNHWz6J


View Text Solution

559. How many compounds A through G are enol tautomers of 2-

butanone?

Watch Video Solution

https://dl.doubtnut.com/l/_u980jsNHWz6J
https://dl.doubtnut.com/l/_vjhHWU5k0WC0


560. Consider the pairs of ethers A to F shown below. To The right of each

pairs is a description of reaction conditions to be applied to each. One

compound of the pair will react more rapidly than the other. Find out

number of reactions in which first ether more rapidly cleaved than

second.

https://dl.doubtnut.com/l/_T8NaGTabJWDO





https://dl.doubtnut.com/l/_T8NaGTabJWDO


Watch Video Solution

561. 


Find out number of reagents that can be used for above conversion, from

following.

Watch Video Solution

R − CH2 − Oh
?

−−→ R − CH2 − Cl

HCl/ZnCl2, PCl3, PCl5, POCl3, SOCl2, NaCl, TsCl

https://dl.doubtnut.com/l/_T8NaGTabJWDO
https://dl.doubtnut.com/l/_1i5lCTZ6PwYx


562. Find out number of reagents that converts  alcohol to aldehyde.


Watch Video Solution

1∘

563. How many moles of Hi reacts with glycerol to give 2 iodopropane?

Watch Video Solution

564. Compound X (Molecular formula, ) does not react appreciably

with Lucas reagent at room temperature but gives a precipitate with

C5H8O

https://dl.doubtnut.com/l/_Z20Iz4PiqEIh
https://dl.doubtnut.com/l/_vb2cFZK7m7yc
https://dl.doubtnut.com/l/_56ilfAxJLUM5


ammoniacal silver nitrate. With excess of MeMgBr,0.42g of X gives 224 Ml

of  at STP. Treatment of X with  in presence of Pt catalyst followed

by boiling with excess Hi,gives n-pentane. Suggest structure of X and

write the equations involved.

Watch Video Solution

CH4 H2

565. How the following transformation can be carried out (in not more

than six steps)?

"Ethyl alcohol to vinyl acetate".

Watch Video Solution

566. Write the structure of the major organic product expected from each

of the following reactions:

https://dl.doubtnut.com/l/_56ilfAxJLUM5
https://dl.doubtnut.com/l/_cNF6dEbrAsCW
https://dl.doubtnut.com/l/_u5SECuu3HNO2


Watch Video Solution

567. Write the structure of the major organic product expected from each

of the following reactions:

Watch Video Solution

CH3CH2CHCI2
aq .KOH
−−−−→

568. Indicate steps which would convert :phenol to acetophenone

View Text Solution

569. Indicate steps which would convert :acetic acid to tert-butyl alcohol

Watch Video Solution

https://dl.doubtnut.com/l/_u5SECuu3HNO2
https://dl.doubtnut.com/l/_b92XnIei4z6N
https://dl.doubtnut.com/l/_ZFkqrBJXOdV4
https://dl.doubtnut.com/l/_saWrUCsJKrBX


570. 


What are A, B,and C compounds?

Watch Video Solution

571. Compound (A)  is insoluble in  solution but

dissolves in sodium hydroxide and gives a characteristic violet colour with

aqueous ferric chloride.

When treated with bromine water (A) forms a compound (B) of molecular




Give structural formulae of (A) and (B)

Watch Video Solution

C7H8O NaHCO3

C7H5OBr3.

https://dl.doubtnut.com/l/_MqogrOQJVypL
https://dl.doubtnut.com/l/_oopYk1ND2zhJ
https://dl.doubtnut.com/l/_wh67PB0ITBJ1


572. Compound (A)  is insoluble in  solution but

dissolves in sodium hydroxide and gives a characteristic violet colour with

aqueous ferric chloride.

When treated with bromine water (A) forms a compound (B) of molecular




Give structural formulae of (A) and (B)

Watch Video Solution

C7H8O NaHCO3

C7H5OBr3.

573. Why di-tert-butyl ether cannot be obtained by Williamson's synthesis

?

Watch Video Solution

574. 2,2 Dimethyl oxirane can be cleaved by acid . Write mechanism.

Watch Video Solution

(H + )

https://dl.doubtnut.com/l/_wh67PB0ITBJ1
https://dl.doubtnut.com/l/_HFliPY5H5kAV
https://dl.doubtnut.com/l/_NNqVGbuKmVYB


575. How many grams of concentrated nitric acid solution should be used

to prepare 200 mL of 2.0 M ? The acid is 70% concentrated.

Watch Video Solution

HNO3

576. 


possible product (s) is /are

A. 

B. 

https://dl.doubtnut.com/l/_dOWbxrpb5s2o
https://dl.doubtnut.com/l/_HmDxRp8z2Noz


C. 

D. 

Answer: A::C

Watch Video Solution

577. Predict the products (A) and (B) in the following reaction .

A. 

B. 

https://dl.doubtnut.com/l/_HmDxRp8z2Noz
https://dl.doubtnut.com/l/_DXC7FBfUrCqG


C. 

D. 

Answer: A::D

Watch Video Solution

578. Of the following 0.10 m aqueous solutions, which one will exhibit the

largest freezing point depression?

A. (a) 

B. (b) 

C. (C) 

D. (d) 

Answer: B::C

KCl

C6H12O6

K4[Fe(CN)6]

K2SO4

https://dl.doubtnut.com/l/_DXC7FBfUrCqG
https://dl.doubtnut.com/l/_iKGBVsrTEL7v


Watch Video Solution

579. When phenol is reacted with  and NaOH followed by

acidification, salicylaldehyde is obtained. Which of the following species

is/are involved in the above mentioned reaction as intermediate(s)?

A. 

B. 

C. 

D. 

CHCI3

https://dl.doubtnut.com/l/_iKGBVsrTEL7v
https://dl.doubtnut.com/l/_tVjhXgAICArX


Answer: A::D

Watch Video Solution

580. The number of electrons delivered at the cathode during electrolysis

by a current of 1A in 60s is? (charge on electron=1.60 x 10^-19 C)

Watch Video Solution

581. 


Where L is a leaving group.

Which of the following statement(s) is /are true regarding the leaving

tendency of the leaving group (L)?

A. 

B. 

C. 

D. 

CH − 3 − L + CH3 −
θ

ON
⊕
a → CH3 − O − CH3 +

θ

LN
⊕
a

p − CH3 − C6H4 − SOθ
3 > CF3SO

θ
3

p − CH3 − C6H4 − SOθ
3 > I θ

p − CH3 − C6H4 − SOθ
3 < CF3SO

θ
3

p − CH3 − C6H4 − SOθ
3 < I θ

https://dl.doubtnut.com/l/_tVjhXgAICArX
https://dl.doubtnut.com/l/_aQGiKQX3tEBG
https://dl.doubtnut.com/l/_tH7fD4H31MRp


Answer: B::C

Watch Video Solution

582. Select correct statement(s) for the following reaction:

A. Nucleophile attacks at -carbon and x -bond is cleaved

B. Nucleophile attacks at  -carbon and y-bond is cleaved

C. Nucleophile attacks at -carbon and y- bond is cleaved

D. Nucleophile attacks -carbon and x-bond is cleaved

Answer: A

Watch Video Solution

α

β

α

β

https://dl.doubtnut.com/l/_tH7fD4H31MRp
https://dl.doubtnut.com/l/_LwCpAoYgnEOP
https://dl.doubtnut.com/l/_lhCyeFb4G975


583. Which one of the following electrolytes has the same value of van't

Hoff factor  as that of ( if all are 100% ionised)?

A. (a) 

B. (B) 

C. (C) 

D. (D) 

Answer: B::C

Watch Video Solution

(i) Al2(SO4)3

Al(NO3)3

K4[Fe(CN)6]

K2SO4

K3[Fe(CN)6]

584. 1.00 g of a non-electrolyte solute (molar mass 250g/mol) was

dissolved in 51.2g of benzene. If the freezing point depression constant ,

 of benzene is 5.12 K kg/mol, the freezing point of benzene will be

lowered by:

Watch Video Solution

Kf

https://dl.doubtnut.com/l/_lhCyeFb4G975
https://dl.doubtnut.com/l/_CISRunqWqehg
https://dl.doubtnut.com/l/_MmJnxdWqwgRx


585. Humans, monkeys and guinea pigs do not have the enzymes

necessary for the biosynthesis of vitamin C, so they

 Must include

the vitamin in their diets. It is also required for the synthesis of collagen,

which is the structural protein of skin, tendons, connective tissue and

bone.

Although vitamin C does not have a carboxylic acid group, it is an acidic

compound. Acidic character is shown by

A.  group−CH2OH

https://dl.doubtnut.com/l/_MmJnxdWqwgRx


B. 

C. 

D. all of these

Answer: C

Watch Video Solution

586. Vanillin  is isolated from vanilla beans. It gives intense

blue colour with neutral  and also gives+ve Tollen's test. It reacts

with conc. HBr to give a compound B. One mole of vanillin gave one mole

of AgI with Zeise's active methoxy estimations. Compound B on oxidation

with Tollen's reagent gave a catechol derivative. Compound B can be

prepared from catechol by Gattermann Koch reaction.

Vanillin structure should be

A[C8H8O3]

FeCl3

https://dl.doubtnut.com/l/_MmJnxdWqwgRx
https://dl.doubtnut.com/l/_nyumTp5XWXTB


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

587. Vanillin  is isolated from vanilla beans. It gives intense

blue colour with neutral  and also gives+ve Tollen's test. It reacts

with conc. HBr to give a compound B. One mole of vanillin gave one mole

A[C8H8O3]

FeCl3

https://dl.doubtnut.com/l/_nyumTp5XWXTB
https://dl.doubtnut.com/l/_iobSiLABASYy


of AgI with Zeise's active methoxy estimations. Compound B on oxidation

with Tollen's reagent gave a catechol derivative. Compound B can be

prepared from catechol by Gattermann Koch reaction.

Compound B on heating with zinc dust will give

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_iobSiLABASYy


Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_iobSiLABASYy


588. Match Column -1 with Column-11

Watch Video Solution

https://dl.doubtnut.com/l/_d9ggOULbDJoe


589. Suppose the elements  and  combine to form two compounds 

 and . When 0.1 mole of  weighs 10g and 0.05 mole of the

other weighs , the atomic weights of  and  are.

Watch Video Solution

X Y

XY2 X3Y2 XY2

9g X Y

https://dl.doubtnut.com/l/_d9ggOULbDJoe
https://dl.doubtnut.com/l/_0l9wdGQniteE


590. Match Column -1 with Column-11

Watch Video Solution

https://dl.doubtnut.com/l/_lF7Zz8ZK8h0V


591. 


What is the maximum value of x?

Watch Video Solution

https://dl.doubtnut.com/l/_lF7Zz8ZK8h0V
https://dl.doubtnut.com/l/_exMnvDFVPWpd


592. 


What is the ratio of moles of formic acid obtained in reaction (a) and

reaction (b)?

Watch Video Solution

https://dl.doubtnut.com/l/_DVLKyqu8Tu6g


593. 


The degree of unsaturation of the final products is

Watch Video Solution

594. 


A violet coloured complex of Fe(III)in Which number of phenyl group(s) =x.

The value of x is

Watch Video Solution

https://dl.doubtnut.com/l/_97fdsCEi433F
https://dl.doubtnut.com/l/_drOyVhxPzbOV


595. 0.1 mole of a hydroxyl compound reacts with 62.5 g 

(mol.wt.208.5) Determine the number of -OH groups

Watch Video Solution

PCl5

596. Identify (X) and (Y) in the following reaction sequence.

Watch Video Solution

597. Compound X (Molecular formula, ) does not react appreciably

with Lucas reagent at room temperature but gives a precipitate with

ammoniacal silver nitrate. With excess of MeMgBr,0.42g of X gives 224 Ml

of  at STP. Treatment of X with  in presence of Pt catalyst followed

C5H8O

CH4 H2

https://dl.doubtnut.com/l/_TwaycqXmvGII
https://dl.doubtnut.com/l/_nMP9wpcyjbkP
https://dl.doubtnut.com/l/_N0uEYPmSjhP8


by boiling with excess Hi,gives n-pentane. Suggest structure of X and

write the equations involved.

Watch Video Solution

598. Compound (A)  is insoluble in  solution but

dissolves in sodium hydroxide and gives a characteristic violet colour with

aqueous ferric chloride.

When treated with bromine water (A) forms a compound (B) of molecular




Give structural formulae of (A) and (B)

Watch Video Solution

C7H8O NaHCO3

C7H5OBr3.

599. When t-butanol and n-butanol are separately treated with a few

drops of dilute  in one case only, the purple colour disappears

and a brown precipitate is formed. Which of the two alcohols gives the

above reaction and what is the brown precipitate?

W t h Vid S l ti

KMnO4

https://dl.doubtnut.com/l/_N0uEYPmSjhP8
https://dl.doubtnut.com/l/_XKMZwoERlXdC
https://dl.doubtnut.com/l/_sqRBIiA6Gfc7


Watch Video Solution

600. An optically active alcohol  absorbs two mole of

hydrogen molecule per mole of A upon catalytic hydrogenation and gives

a product B.The compound B is resistant to oxidation by  and does

not show any optical activity . Deduce the structure of A and B.

Watch Video Solution

A(C6H10O)

CrO3

601. Give reason for the following in one or two sentences. "Acid catalysed

dehydration of t-butanol is faster than that of n-butanol".

Watch Video Solution

https://dl.doubtnut.com/l/_sqRBIiA6Gfc7
https://dl.doubtnut.com/l/_E0DOgq2TXki4
https://dl.doubtnut.com/l/_hBqlCn11tMJz


602. Convert 

Watch Video Solution

603. An organic liquid (A) Having pleasant odour is hydrolysed to an acid

(B) and alcohol (C ) .The acid (B) is ethanoic acid (C ) on treating with HCI

gives (D) ,oxidation of ( C) yield benzoic acid. What are (A),(C ) and (D)?

Watch Video Solution

https://dl.doubtnut.com/l/_7iQiiRPK6mnJ
https://dl.doubtnut.com/l/_MflwrZZPeobr


604. Identify (X) and (Y) in the following reaction sequence.

Watch Video Solution

605. This question has Statement I and Statement II. Of the four choices

given after the Statements, choose the one that best describes the two

Statements 

Statement -1: The boiling point of ethanol is much higher than that of

diethyl ether.

Statement-II:In ethanol, the molecules are associated due to

intermolecular hydrogen bonding, whereas in diethyl ether it is not

possible.

https://dl.doubtnut.com/l/_3ZigmHAp94D8
https://dl.doubtnut.com/l/_O6iHjxiSfUCl


A. Statement-I is true, Statement-II is true, Statement-II is a correct

explanation of Statement-I

B. Statement -I is true, Statement-II is true, Statement-II is not a

correct explanation of Statement-I.

C. Statement-I is true, Statement -II is false.

D. Statement -1 is false, Statement-II is true.

Answer: A

Watch Video Solution

606. This question has Statement I and Statement II. Of the four choices

given after the Statements, choose the one that best describes the two

Statements 

Statement -1:The acidity of alcohols follows the order . 


Statement-II:The +I effect of alkyl groups  favors the

dissociation of -O-H group.

1∘ > 2∘ > 3∘

(3∘ > 2∘ > 1∘ )

https://dl.doubtnut.com/l/_O6iHjxiSfUCl
https://dl.doubtnut.com/l/_tnafiGH5TG5E


A. Statement-I is true, Statement-II is true, Statement-II is a correct

explanation of Statement-I

B. Statement -I is true, Statement-II is true, Statement-II is not a

correct explanation of Statement-I.

C. Statement-I is true, Statement -II is false.

D. Statement -1 is false, Statement-II is true.

Answer: C

Watch Video Solution

607. This question has Statement I and Statement II. Of the four choices

given after the Statements, choose the one that best describes the two

Statements 

Statement -1:  decomposes, 1-2-glycols but not 1,3-or higher glycols. 


Statement-II:Only 1,2-glycols from cyclic esters which subsequently

undergo cleavage to from carbonyl compounds.

HIO4

https://dl.doubtnut.com/l/_tnafiGH5TG5E
https://dl.doubtnut.com/l/_ubGp9B3TSpua


A. Statement-I is true, Statement-II is true, Statement-II is a correct

explanation of Statement-I

B. Statement -I is true, Statement-II is true, Statement-II is not a

correct explanation of Statement-I.

C. Statement-I is true, Statement -II is false.

D. Statement -1 is false, Statement-II is true.

Answer: A

Watch Video Solution

608. This question has Statement I and Statement II. Of the four choices

given after the Statements, choose the one that best describes the two

Statements 

Statement -1:  alcohols show turbidity within 5 minutes,when treated

with Lucas reagent.

Statement-II:Conc, HCL and anhydrous  in 1:1 mixture is called Lucas

reagent.

3∘

ZnCl2

https://dl.doubtnut.com/l/_ubGp9B3TSpua
https://dl.doubtnut.com/l/_Ew2YDHuJSMUJ


A. Statement-I is true, Statement-II is true, Statement-II is a correct

explanation of Statement-I

B. Statement -I is true, Statement-II is true, Statement-II is not a

correct explanation of Statement-I.

C. Statement-I is true, Statement -II is false.

D. Statement -1 is false, Statement-II is true.

Answer: D

Watch Video Solution

609. This question has Statement I and Statement II. Of the four choices

given after the Statements, choose the one that best describes the two

Statements 

Statement -1: Grignard reagent reacts with aldehydes and ketones to

form alcohols. 

Statement-II:Alcohols have acidic hydrogen

https://dl.doubtnut.com/l/_Ew2YDHuJSMUJ
https://dl.doubtnut.com/l/_X2Pj7oqYDcJt


A. Statement-I is true, Statement-II is true, Statement-II is a correct

explanation of Statement-I

B. Statement -I is true, Statement-II is true, Statement-II is not a

correct explanation of Statement-I.

C. Statement-I is true, Statement -II is false.

D. Statement -1 is false, Statement-II is true.

Answer: B

View Text Solution

610. This question has Statement I and Statement II. Of the four choices

given after the Statements, choose the one that best describes the two

Statements 

Statement -1: Glycerol does not react with HI 

Statement-II: 2-iodopropane can be produced by treatment of glycerol

with excess HI

https://dl.doubtnut.com/l/_X2Pj7oqYDcJt
https://dl.doubtnut.com/l/_HmRiVUMb2Sun


A. Statement-I is true, Statement-II is true, Statement-II is a correct

explanation of Statement-I

B. Statement -I is true, Statement-II is true, Statement-II is not a

correct explanation of Statement-I.

C. Statement-I is true, Statement -II is false.

D. Statement -1 is false, Statement-II is true.

Answer: D

Watch Video Solution

611. This question has Statement I and Statement II. Of the four choices

given after the Statements, choose the one that best describes the two

Statements 

Statement -1:Glycol  reacts with HI to give ethylene.

Statement-II:In Italy ethylene di-iodide is formed which being unstable

loses a molecule of  and forms ethylene.

(
CH2OH

I
CH2OH

)

I2

https://dl.doubtnut.com/l/_HmRiVUMb2Sun
https://dl.doubtnut.com/l/_9voUvQelmzUR


A. Statement-I is true, Statement-II is true, Statement-II is a correct

explanation of Statement-I

B. Statement -I is true, Statement-II is true, Statement-II is not a

correct explanation of Statement-I.

C. Statement-I is true, Statement -II is false.

D. Statement -1 is false, Statement-II is true.

Answer: A

Watch Video Solution

612. This question has Statement I and Statement II. Of the four choices

given after the Statements, choose the one that best describes the two

Statements 

Statement -1:  is a nucleophile 


Statement-II:  forms sodium methoxide on treatment with Na

CH3OH

CH3OH

https://dl.doubtnut.com/l/_9voUvQelmzUR
https://dl.doubtnut.com/l/_phWHAe84Mxxs


A. Statement-I is true, Statement-II is true, Statement-II is a correct

explanation of Statement-I

B. Statement -I is true, Statement-II is true, Statement-II is not a

correct explanation of Statement-I.

C. Statement-I is true, Statement -II is false.

D. Statement -1 is false, Statement-II is true.

Answer: B

Watch Video Solution

613. This question has Statement I and Statement II. Of the four choices

given after the Statements, choose the one that best describes the two

Statements 

Statement -1: Di-tert butyl ether cannot be prepared by Williams's ether

synthesis.

Statement-II:Tert, butyl bromide on treatment with sodium tert. butoxide

https://dl.doubtnut.com/l/_phWHAe84Mxxs
https://dl.doubtnut.com/l/_CsfXHtfjcDUP


preferentially undergoes elimination to from isobutylene and tert. butyl

alcohol.

A. Statement-I is true, Statement-II is true, Statement-II is a correct

explanation of Statement-I

B. Statement -I is true, Statement-II is true, Statement-II is not a

correct explanation of Statement-I.

C. Statement-I is true, Statement -II is false.

D. Statement -1 is false, Statement-II is true.

Answer: A

Watch Video Solution

614. This question has Statement I and Statement II. Of the four choices

given after the Statements, choose the one that best describes the two

Statements 

Statement -1:Solubility of n-alcohol in water decreases with increase in

https://dl.doubtnut.com/l/_CsfXHtfjcDUP
https://dl.doubtnut.com/l/_ru5ajCKI25pz


molecular weight. 

Statement-II:The relative proportion of the hydrocarbon part in alcohols

increases with increasing molecular weight which permits enhanced

hydrogen bonding with water.

A. Statement-I is true, Statement-II is true, Statement-II is a correct

explanation of Statement-I

B. Statement -I is true, Statement-II is true, Statement-II is not a

correct explanation of Statement-I.

C. Statement-I is true, Statement -II is false.

D. Statement -1 is false, Statement-II is true.

Answer: C

Watch Video Solution

615. This question has Statement I and Statement II. Of the four choices

given after the Statements, choose the one that best describes the two

https://dl.doubtnut.com/l/_ru5ajCKI25pz
https://dl.doubtnut.com/l/_gxw9B7nlfyNa


Statements 

Statement -1:Primary and tertiary alcohols can be distinguished by using

 


Statement-II:  alcohol are not oxidised by Jones reagent.

A. Statement-I is true, Statement-II is true, Statement-II is a correct

explanation of Statement-I

B. Statement -I is true, Statement-II is true, Statement-II is not a

correct explanation of Statement-I.

C. Statement-I is true, Statement -II is false.

D. Statement -1 is false, Statement-II is true.

Answer: A

Watch Video Solution

CrO3,H2SO4

3∘

616. This question has Statement I and Statement II. Of the four choices

given after the Statements, choose the one that best describes the two

https://dl.doubtnut.com/l/_gxw9B7nlfyNa
https://dl.doubtnut.com/l/_moCAKTHFl4bE


Statements 

Statement -1:Phenol on oxidation with fuming  gives picric acid. 


Statement-II:Pure phenols are colourless but turn pink due to oxidation

to benzoquinone.

A. Statement-I is true, Statement-II is true, Statement-II is a correct

explanation of Statement-I

B. Statement -I is true, Statement-II is true, Statement-II is not a

correct explanation of Statement-I.

C. Statement-I is true, Statement -II is false.

D. Statement -1 is false, Statement-II is true.

Answer: B

View Text Solution

HNO3

617. This question has Statement I and Statement II. Of the four choices

given after the Statements, choose the one that best describes the two

https://dl.doubtnut.com/l/_moCAKTHFl4bE
https://dl.doubtnut.com/l/_rAo19iDcyjkx


Statements 

Statement -1:Phenol is used in the manufacture of Bakelite. 

Statement-II:Bakelite is heat resistant thermosetting plastic used for

making electrical switches and switch board.

A. Statement-I is true, Statement-II is true, Statement-II is a correct

explanation of Statement-I

B. Statement -I is true, Statement-II is true, Statement-II is not a

correct explanation of Statement-I.

C. Statement-I is true, Statement -II is false.

D. Statement -1 is false, Statement-II is true.

Answer: B

Watch Video Solution

618. This question has Statement I and Statement II. Of the four choices

given after the Statements, choose the one that best describes the two

https://dl.doubtnut.com/l/_rAo19iDcyjkx
https://dl.doubtnut.com/l/_7a1hJzBPoJ7n


Statements 

Statement -1:Dichloro carbene is active intermediate in Reimer Tiemann

reaction. 

Statement-II:Dichlorocarbene is an electrophile because its octet is not

complete.

A. Statement-I is true, Statement-II is true, Statement-II is a correct

explanation of Statement-I

B. Statement -I is true, Statement-II is true, Statement-II is not a

correct explanation of Statement-I.

C. Statement-I is true, Statement -II is false.

D. Statement -1 is false, Statement-II is true.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_7a1hJzBPoJ7n


619. This question has Statement I and Statement II. Of the four choices

given after the Statements, choose the one that best describes the two

Statements 

Statement -1: Oxiranes can be deoxygenated to alkenes with inverted

stereochemistry by reaction with trivalent phosphorus compounds.

Statement-II:Oxiranes are highly strained.

A. Statement-I is true, Statement-II is true, Statement-II is a correct

explanation of Statement-I

B. Statement -I is true, Statement-II is true, Statement-II is not a

correct explanation of Statement-I.

C. Statement-I is true, Statement -II is false.

D. Statement -1 is false, Statement-II is true.

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_AB9AuzrISuNL
https://dl.doubtnut.com/l/_PjsSku4gT3XD


620. This question has Statement I and Statement II. Of the four choices

given after the Statements, choose the one that best describes the two

Statements 

Statement -1: Ethers are slightly soluble in water but highly soluble in

conc. 


Statement-II:The oxygen of ether forms oxonium ion with acids but not

with .

A. Statement-I is true, Statement-II is true, Statement-II is a correct

explanation of Statement-I

B. Statement -I is true, Statement-II is true, Statement-II is not a

correct explanation of Statement-I.

C. Statement-I is true, Statement -II is false.

D. Statement -1 is false, Statement-II is true.

Answer: A

Watch Video Solution

H2SO4

H2O

https://dl.doubtnut.com/l/_PjsSku4gT3XD
https://dl.doubtnut.com/l/_TlbNior4TY5y


621. This question has Statement I and Statement II. Of the four choices

given after the Statements, choose the one that best describes the two

Statements 

Statement -1: When phenyl acetate is heated with Lewis acid ortho and

para hydroxy acetophenone are obtained.

Statement-II:Phenyl acetate undergoes rearrangement (like Fries

migration)when heated with Lewis acid.

A. Statement-I is true, Statement-II is true, Statement-II is a correct

explanation of Statement-I

B. Statement -I is true, Statement-II is true, Statement-II is not a

correct explanation of Statement-I.

C. Statement-I is true, Statement -II is false.

D. Statement -1 is false, Statement-II is true.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_TlbNior4TY5y
https://dl.doubtnut.com/l/_NVh47oXmUQjZ


622. This question has Statement I and Statement II. Of the four choices

given after the Statements, choose the one that best describes the two

Statements 

Statement -1: Anisole is not obtained when  reacts with

bromobenzene. 

Statement-II:Aryl halides are less reactive towards nucleophilic

substitution.

A. Statement-I is true, Statement-II is true, Statement-II is a correct

explanation of Statement-I

B. Statement -I is true, Statement-II is true, Statement-II is not a

correct explanation of Statement-I.

C. Statement-I is true, Statement -II is false.

D. Statement -1 is false, Statement-II is true.

Answer: A

Watch Video Solution

MeO−

https://dl.doubtnut.com/l/_NVh47oXmUQjZ



